
CODE ITEM TO SUIT SIZE QTY PER

NUT BOLT SINGLE WASHER

JE 00715 NUT BOLT W/WASHER UNIVERSAL 7x15 100 PCS

JE 00815 NUT BOLT W/WASHER UNIVERSAL 8x15 100 PCS

JE 00818 NUT BOLT W/WASHER UNIVERSAL 8x18 100 PCS

JE 00820 NUT BOLT W/WASHER UNIVERSAL 8x20 100 PCS

JE 00825 NUT BOLT W/WASHER UNIVERSAL 8x25 100 PCS

JE 00830 NUT BOLT W/WASHER UNIVERSAL 8x30 100 PCS

JE 00835 NUT BOLT W/WASHER UNIVERSAL 8x35 100 PCS

JE 00850 NUT BOLT W/WASHER UNIVERSAL 8x50 100 PCS

JE 00865 NUT BOLT W/WASHER UNIVERSAL 8x65 50 PCS

JE 00875 NUT BOLT W/WASHER UNIVERSAL 8x75 50 PCS

JE 01012 NUT BOLT W/WASHER UNIVERSAL 10x12 100 PCS

JE 01015 NUT BOLT W/WASHER UNIVERSAL 10x15 100 PCS

JE 01018 NUT BOLT W/WASHER UNIVERSAL 10x18 100 PCS

JE 01025 NUT BOLT W/WASHER UNIVERSAL 10x25 100 PCS

JE 01030 NUT BOLT W/WASHER UNIVERSAL 10x30 100 PCS

JE 01035 NUT BOLT W/WASHER UNIVERSAL 10x35 100 PCS

JE 01040 NUT BOLT W/WASHER UNIVERSAL 10x40 100 PCS

JE 01050 NUT BOLT W/WASHER UNIVERSAL 10x50 50 PCS

JE 01065 NUT BOLT W/WASHER UNIVERSAL 10x65 50 PCS

JE 01075 NUT BOLT W/WASHER UNIVERSAL 10x75 50 PCS

JE 10100 NUT BOLT W/WASHER UNIVERSAL 10x100 50 PCS

JE 01119 NUT BOLT W/WASHER UNIVERSAL 11x19 100 PCS

JE 01125 NUT BOLT W/WASHER UNIVERSAL 11x25 100 PCS

JE 01140 NUT BOLT W/WASHER UNIVERSAL 11x40 50 PCS

JE 01318 NUT BOLT W/WASHER UNIVERSAL 13x18 50 PCS

JE 01325 NUT BOLT W/WASHER UNIVERSAL 13x25 50 PCS

JE 01330 NUT BOLT W/WASHER UNIVERSAL 13x30 50 PCS

JE 01335 NUT BOLT W/WASHER UNIVERSAL 13x35 50 PCS

JE 01340 NUT BOLT W/WASHER UNIVERSAL 13x40 50 PCS

JE 01350 NUT BOLT W/WASHER UNIVERSAL 13x50 50 PCS

JE 01360 NUT BOLT W/WASHER UNIVERSAL 13x60 50 PCS



NUT BOLT WITH TWO WASHERS

JE 01018A NUT BOLT W/2WASHER M 6 - 3/4 Inch 10x18 100 PCS

JE 01025A NUT BOLT W/2WASHER M 6 - 1 Inch 10x25 100 PCS

JE 01035A NUT BOLT W/2WASHER M 6 - 1.5 Inch 10x35 100 PCS

JE 01050A NUT BOLT W/2WASHER M 6 - 2 Inch 10x50 100 PCS

JE 01140N NUT BOLT W/W W/2NUT UNIVERSAL 11x40 100 PCS

JE 01318A NUT BOLT W/2WASHER M 8 - 3/4 Inch 13x18 100 PCS

JE 01325A NUT BOLT W/2WASHER M 8 - 1 Inch 13x25 100 PCS

JE 01335A NUT BOLT W/2WASHER M 8 - 1.5 Inch 13x35 100 PCS

JE 01350A NUT BOLT W/2WASHER M 8 - 2 Inch 13x50 50 PCS

JE RE153 BODY NUT BOLT 2/W REAR ENG. 13x75 25 PCS

JE RE154 BODY NUT BOLT 2/W REAR ENG. 13x100 25 PCS

JE RE155 BODY NUT BOLT 2/W REAR ENG. 13x125 25 PCS

JE RE146 BODY NUT BOLT REAR ENG. 17x50 25 PCS

JE RE147 BODY NUT BOLT REAR ENG. 17x65 10 PCS

JE RE148 BODY NUT BOLT REAR ENG. 17x75 10 PCS

JE RE149 BODY NUT BOLT REAR ENG. 17x100 10 PCS

JE RE150 BODY NUT BOLT REAR ENG. 17x125 10 PCS

NUT ONLY

JE N007 NO. 7 NUT UNIVERSAL 4mm 200 PCS

JE N008 NO. 8 NUT UNIVERSAL 5mm 200 PCS

JE N010 NO.10 NUT UNIVERSAL 6mm 100 PCS

JE N010A NO.10 NUT 2.5-saria 6mm 100 PCS

JE N011 NO.11 NUT 2.25 f 7mm 100 PCS

JE N011A NO.11 NUT 1.75 f 7mm 100 PCS

JE N013A NO.13 NUT 2.50 G 8mm 100 PCS

JE N013B NO.13 NUT 2.50 GRN 8mm 100 PCS

JE N014 NO.14 NUT UNIVERSAL 8mm 100 PCS

JE N015 NO.15 NUT UNIVERSAL 9mm 50 PCS

JE N017 NO.17 NUT UNIVERSAL 10mm 100 PCS

JE N017A NO.17 NUT 2.50  BK 10mm 100 PCS

JE N017B NO.17 NUT 2.50  GRN 10mm 50 PCS



NYLOCK NUTS

JE NL007 NO.7 NYLOCK NUT UNIVERSAL 4mm 200 PCS

JE NL008 NO.8 NYLOCK NUT UNIVERSAL 5mm 200 PCS

JE NL010 NO.10 NYLOCK NUT UNIVERSAL 6mm 100 PCS

JE NL013 NO.13 NYLOCK NUT UNIVERSAL 8mm 100 PCS

JE NL017 NO.17 NYLOCK NUT UNIVERSAL M10x1.50 50 PCS

JE NL017A NO.17 NYLOCK NUT UNIVERSAL M10x1.25 50 PCS

JE NL019 NO.19 NYLOCK NUT UNIVERSAL 12mm 25 PCS

FLANGE NUTS

JE NF008 NO.8 FLANGE NUT UNIVERSAL M5 100 PCS

JE NF010 NO.10 FLANGE NUT UNIVERSAL M6 100 PCS

JE NF011 NO.11 FLANGE NUT UNIVERSAL M7 100 PCS

JE NF013 NO.13 FLANGE NUT UNIVERSAL M8 100 PCS

JE NF017 NO.17 FLANGE NUT UNIVERSAL M10 100 PCS

WASHERS ONLY

JE WB010 NO.10 BIG WASHER UNIVERSAL 1"DIA-16G 100 PCS

JE WB013 NO.13 BIG WASHER UNIVERSAL 1"DIA-16G 100 PCS

JE WB017 NO.17 BIG WASHER UNIVERSAL 1"DIA-16G 100 PCS

JE WB019 NO.19 BIG WASHER UNIVERSAL 1"DIA-16G 100 PCS

JE WB022 NO.22 BIG WASHER UNIVERSAL 1"DIA-16G 100 PCS

JE BB010 NO.10 BODY WASHER  3 -  W 12G 100 PCS

JE BB013 NO.13 BODY WASHER  3 -  W 12G 100 PCS

JE BB017 NO.17 BODY WASHER  3 -  W 12G 100 PCS

JE BB019 NO.19 BODY WASHER HUB NUT WS NEW- APE11G 100 PCS

JE DW013 DOLLER WASHER UNIVERSAL NO. 13 50 PCS

JE DW017 DOLLER WASHER UNIVERSAL NO.17 50 PCS

JE WC008 NO.8  COIN WASHER UNIVERSAL 16G 100 PCS

JE WC010 NO.10 COIN WASHER UNIVERSAL 16G 100 PCS

JE WC013 NO.13 COIN WASHER UNIVERSAL 16G 100 PCS

JE WC017 NO.17 COIN WASHER UNIVERSAL 16G 100 PCS



JE WD007 NO.7 DICKY WASHER UNIVERSAL 4mm 200 PCS

JE WD008 NO.8 DICKY WASHER UNIVERSAL 5mm 200 PCS

JE W007 NO.7 PLAIN WASHER UNIVERSAL 4mm 200 PCS

JE W008 NO.8 PLAIN WASHER UNIVERSAL 5mm 200 PCS

JE W010 NO.10 PLAIN WASHER UNIVERSAL 6mm 100 PCS

JE W011 NO.11 PLAIN WASHER (HEAD) UNIVERSAL 7mm 200 PCS

JE W013 NO.13 PLAIN WASHER UNIVERSAL 8mm 100 PCS

JE WS008 NO.8  STEPNI WASHER UNIVERSAL 5mm 100 PCS

JE WS010 NO.10 STEPNI WASHER UNIVERSAL 6mm 100 PCS

JE WS013 NO.13 STEPNI WASHER UNIVERSAL 8mm 100 PCS

JE WS017 NO.17 STEPNI WASHER UNIVERSAL 10mm 100 PCS

JE WS019 NO.19 STEPNI WASHER UNIVERSAL 12mm 100 PCS

JE WP008 NO.8  SPRING WASHER UNIVERSAL 5mm 200 PCS

JE WP010 NO.10 SPRING WASHER UNIVERSAL 6mm 200 PCS

JE WP011 NO.11 SPRING WASHER UNIVERSAL 7mm 200 PCS

JE WP013 NO.13 SPRING WASHER  SPL UNIVERSAL 8mm 100 PCS

JE WP017 NO.17 SPRING WASHER  SPL UNIVERSAL 10mm 100 PCS

JE WP019 NO.19 SPRING WASHER UNIVERSAL 12mm 100 PCS

JE WP022 NO.22 SPRING WASHER UNIVERSAL 14mm 100 PCS

6MM FLANGE BOLTS ONLY 

JE FB00106 NO.10 FLANGE BOLT M6x6 100 PCS

JE FB01010 NO.10 FLANGE BOLT M6x10 100 PCS

JE FB01012 ENGINE COVER BOLT -APE OIL FILTER CUP BOLT M6x12 FLANGE 100 PCS

JE FB01015 NO.10 FLANGE BOLT MUDGUARD BOLT - HO M6x15 100 PCS

JE FB01015A NO.10 FLANGE NUT BOLT MUDGUARD NUT BOLT -M6x15 100 PCS

JE FB01018 NO.10 FLANGE BOLT M6x18 100 PCS

JE FB01018A NO.10 FLANGE NUT BOLT M6x18 100 PCS

JE FB01020 NO.10 FLANGE BOLT OIL FILTER CUP BOLT BM6x20 100 PCS

JE FB01020A NO.10 FLANGE NUT BOLT M6x20 100 PCS

JE FB01022 NO.10 FLANGE BOLT M6x22 100 PCS

JE FB01025 NO.10 FLANGE BOLT M6x25 50 PCS



JE FB01025A NO.10 FLANGE NUT BOLT M6x25 100 PCS

JE FB01028 HANDLE FIXING BOLT -HH KICK GUTKA BOLT - SPLM6x28 100 PCS

JE FB01030 NO.10 FLANGE BOLT M6x30 50 PCS

JE FB01035 NO.10 FLANGE BOLT M6x35 50 PCS

JE FB01040 NO.10 FLANGE BOLT M6x40 50 PCS

JE FB01045 NO.10 FLANGE BOLT M6x45 50 PCS

JE FB01050 NO.10 FLANGE BOLT M6x50 50 PCS

JE FB01055 NO.10 FLANGE BOLT M6x55 50 PCS

JE FB01060 NO.10 FLANGE BOLT M6x60 50 PCS

JE FB01065 NO.10 FLANGE BOLT M6x65 50 PCS

JE FB01080 NO.10 FLANGE BOLT M6x80 50 PCS

JE FB01088 NO.10 FLANGE BOLT M6x88 25 PCS

JE FB01090 NO.10 FLANGE BOLT M6x90 25 PCS

JE FB10110 NO.10 FLANGE BOLT M6x110 25 PCS

8 MM FLANGE BOLTS ONLY

JE FB01316 LEG GUARD BOLT -M/CYCLE SEAT BOLT SMALL-H.H M8x16-FB BOLT 50 PCS

JE FB01320 NO.12 FLANGE BOLT M8x20 50 PCS

JE FB01325 NO.12 FLANGE BOLT KICK BOSS BOLT-CT100M8x25 25 PCS

JE FB01330 NO.12 FLANGE BOLT SELF BOLT MEDIUM -C M8x30 25 PCS

JE FB01335 KK BOSS BOLT-*CITY-VICTOR M8x35 25 PCS

JE FB01340 SILENCER BOLT ACTIVA OLD NO.12 FLANGE BOLT M8x40 25 PCS

JE FB01350 NO.12 FLANGE BOLT SEAT BOLT BIG -HONDASEAT BOLT -SU 25 PCS

10 MM FLANGE BOLT ONLY

JE FB01725 NO.17 FLANGE BOLT 17x25 25 PCS

JE FB01735 NO.17 FLANGE BOLT 17x35 25 PCS

5MM PHILIPS HEAD SCREW

JE PS00818 NO.8 (5mm) PHILIPS HEAD SCREW 8x18 100 PCS

JE PS00820 NO.8 (5mm) PHILIPS HEAD SCREW 8x20 100 PCS

JE PS00825 NO.8 (5mm) PHILIPS HEAD SCREW 8x25 100 PCS

JE PS00835 SCREW HANDLE BAR -LML SCREW VISOR DISCOVE8x35 100 PCS

JE PS00840 NO.8 (5mm) PHILIPS HEAD SCREW 8x40 100 PCS

JE PS00845 NO.8 (5mm) PHILIPS HEAD SCREW 8x45 100 PCS

JE PS00850 NO.8 (5mm) PHILIPS HEAD SCREW 8x50 100 PCS



JE PS00855 NO.8 (5mm) PHILIPS HEAD SCREW 8x55 50 PCS

6MM PHILIPS HEAD SCREWS

JE PS01010 NO.10 (6mm) PHILIPS HEAD SCREW 10x10 100 PCS

JE PS01012 NO.10 (6mm) PHILIPS HEAD SCREW 10x12 100 PCS

JE PS01015 NO.10 (6mm) PHILIPS HEAD SCREW 10x15 100 PCS

JE PS01018 NO.10 (6mm) PHILIPS HEAD SCREW VISOR SCREW - ACTIVA10x18 100 PCS

JE PS01020 NO.10 (6mm) PHILIPS HEAD SCREW 10x20 100 PCS

JE PS01022 NO.10 (6mm) PHILIPS HEAD SCREW 10x22 100 PCS

JE PS01025 NO.10  P.H.SCREW 10x25-IGNITION *C OIL PUMP SCREW SMALLSHIELD SCREW 100 PCS

JE PS01030 NO.10 (6mm) PHILIPS HEAD SCREW 10x30 100 PCS

JE PS01035 NO.10 (6mm) PHILIPS HEAD SCREW 10x35 50 PCS

JE PS01040 NO.10 (6mm) PHILIPS HEAD SCREW 10x40 50 PCS

JE PS01045 NO.10 (6mm) PHILIPS HEAD SCREW 10x45 50 PCS

JE PS01050 NO.10 (6mm) PHILIPS HEAD SCREW 10x50 50 PCS

JE PS01055 NO.10 (6mm) PHILIPS HEAD SCREW 10x55 50 PCS

JE PS01060 NO.10 (6mm) PHILIPS HEAD SCREW 10x60 50 PCS

JE PS01065 NO.10 (6mm) PHILIPS HEAD SCREW 10x65 50 PCS

JE PS01070 NO.10 (6mm) PHILIPS HEAD SCREW 10x70 50 PCS

JE PS01075 NO.10 (6mm) PHILIPS HEAD SCREW 10x75 50 PCS

JE PS01080 NO.10 (6mm) PHILIPS HEAD SCREW 10x80 50 PCS

JE PS01085 NO.10 (6mm) PHILIPS HEAD SCREW 10x85 50 PCS

AXLE FOUNDATION

JE AF101 AXLE FOUNDATION CT 100-WIND CALIBER 115 1 PCS

JE AF102 AXLE FOUNDATION BOXER CT-AT-AR KB 4S 1 PCS

JE AF103 AXLE FOUNDATION M 80 1 PCS

JE AF104 AXLE FOUNDATION PULSAR DTSI 1 PCS

JE AF105 AXLE FOUNDATION PLATINA 1 PCS

JE AF106 AXLE FOUNDATION DISCOVER 1 PCS

JE AF107 AXLE FOUNDATION DISCOVER 100-135 1 PCS

JE AF108 AXLE FOUNDATION XCD 125CC DTSi 135 CC 1 PCS

JE AF201 AXLE FOUNDATION HH SS SLEEK 1 PCS

JE AF202 AXLE FOUNDATION HH CD100 1 PCS

JE AF203 AXLE FOUNDATION SPL + CD DAWN-SPLENPASSION + 1 PCS

JE AF204 AXLE FOUNDATION SUPER SPL -GLAMOUR ACHIEVER 1 PCS



JE AF205 AXLE FOUNDATION SPL NXG-PASS NEW PASS PRO 1 PCS

JE AF206 AXLE FOUNDATION CBZ-UNICORN AMBITION 1 PCS

JE AF207 AXLE FOUNDATION HUNK-KARIZMA CBZ EXTREME 1 PCS

JE AF701 AXLE FOUNDATION SUZUKI 1 PCS

JE AF801 AXLE FOND.-SHINE VICTOR GLX STAR CITY A/W 1 PCS

JE AF802 AXLE FOUNDATION APACHE -RTR 1 PCS

JE AF803 AXLE FOUNDATION SUPER XL HEAVY DUTY 1 PCS

JE AF901 AXLE FOUNDATION RX 100 CRUX 1 PCS

AXLE FRONT

JE AN102 AXLE FRONT CALIBER-BOXER CT-ATKB 4S -CT100 1 PCS

JE AN103 AXLE FRONT M 80 1 PCS

JE AN104 AXLE FRONT DISCOVER 100 1 PCS

JE AN105 AXLE FRONT -XCD PULSAR DTSi DISCOVER 1 PCS

JE AN106 AXLE FRONT PLATINA A/W 1 PCS

JE AN107 AXLE FRONT DISCOVER 125CC 1 PCS

JE AN201 AXLE FRONT-SPLENDER HH SS-CD-PASSION+ CD DAWN 1 PCS

JE AN202 AXLE FRONT-AVIATOR CBZ--UNICORN-HUNK-KIACTIVA-ETERN 1 PCS

JE AN203 AXLE FRONT SUPER SPLENDER GLAMOUR 1 PCS

JE AN301 AXLE FRONT SHINE-TWISTER STUNNER 1 PCS

JE AN701 AXLE FRONT SUZUKI 1 PCS

JE AN702 AXLE FRONT ACCESS 1 PCS

JE AN801 AXLE FRONT VICTOR 1 PCS

JE AN802 AXLE FRONT STARCITY AW VICTOR GLX 1 PCS

JE AN803 AXLE FRONT STARCITY CENTRA 1 PCS

JE AN804 AXLE FRONT APACHE RTR FLAME 1 PCS

JE AN805 AXLE FRONT SUPER XL-CHAMP MAX 100 1 PCS

JE AN806 AXLE FRONT TVS 50 1 PCS

JE AN901 AXLE FRONT RX100 CRUX -LIBERO 1 PCS

JE AN902 AXLE FRONT FZ FAZER 1 PCS

AXLE REAR

JE AR101 AXLE REAR CT 100-PLATINA-KB4S CALIBER-BOXE 1 PCS

JE AR102 AXLE REAR PULSAR  DIGITAL 1 PCS

JE AR103 AXLE REAR M 80 1 PCS

JE AR104 AXLE REAR DISCOVER100 XCD 1 PCS



JE AR105 AXLE REAR-APACHE-STUNNER PULSAR DTSi DISCOVER 1 PCS

JE AR106 AXLE REAR PLATINA ALLOY 1 PCS

JE AR107 AXLE REAR M80 MAJOR 1 PCS

JE AR201 AXLE REAR -HH SS SPLENDER -HH CD DLX PASSION 1 PCS

JE AR202 AXLE REAR SPL NXG-SPLENDER + CD DLX AW-PAS 1 PCS

JE AR203 AXLE REAR SUPER SPL-ACHIEVER GLAMOUR 1 PCS

JE AR204 AXLE REAR-UNICORN CBZ-HUNK-KARIZMA 1 PCS

JE AR301 AXLE REAR STUNNER- SHINE TWISTER 1 PCS

JE AR701 AXLE REAR SUZUKI SUPER XL N/M 1 PCS

JE AR801 AXLE REAR STARCITY-VICTOR CENTRA 1 PCS

JE AR802 AXLE REAR TVS 50 1 PCS

JE AR803 AXLE REAR SUPER XL 1 PCS

JE AR901 AXLE REAR RX100-SAMURAI 1 PCS

BRAKE RODS

JE BR001 BRAKE ROD NUT M/CYCLE NO.8 25 PCS

JE BR002 BRAKE ROD NUT M/CYCLE NO.10 10 PCS

JE BR003 BRAKE ROD BAREL M/CYCLE 25 PCS

JE BR004 BRAKE ROD NUT NO.14 UNICORN EXTREME 10 PCS

JE BR101 BRAKE ROD W/PIN DISCOVER 150 1 PC

JE BR102 BRAKE ROD W/PIN M80 MAJOR 1 PC

JE BR103 BRAKE ROD W/PIN PULSAR 200cc 1 PC

JE BR104 BRAKE ROD W/PIN PULSAR DTSi DIGITAL -UG3i 1 PC

JE BR105 BRAKE ROD -KB 100 CT100 - KB4S PLATINA 1 PC

JE BR106 BRAKE ROD W/PIN PULSAR 135 1 PC

JE BR107 BRAKE ROD W/PIN DISCOVER 100-135 1 PC

JE BR108 BRAKE ROD W/PIN X C D 1 PC

JE BR109 BRAKE ROD W/PIN PLATINA - AW 1 PC

JE BR201 BRAKE ROD W/PIN H.HONDA 1 PC

JE BR202 BRAKE ROD W/PIN KARIZMA CBZ 1 PC

JE BR203 BRAKE ROD W/PIN SPLENDER PASSION PRO 1 PC

JE BR204 BRAKE ROD W/PIN SUPER SPLENDER GLAMOUR 1 PC

JE BR205 BRAKE ROD W/PIN CBZ    XTREME 1 PC

JE BR206 BRAKE ROD W/PIN KARIZMA   R 1 PC

JE BR207 BRAKE ROD W/PIN AMBITION 1 PC

JE BR301 BRAKE ROD W/PIN UNICORN STUNNER 1 PC



JE BR302 BRAKE ROD W/PIN TWISTER SHINE 1 PC

JE BR701 BRAKE ROD W/PIN SUZUKI SAMURAI 1 PC

JE BR801 BR. ROD -VICTOR GLX APACHE-FIERO STAR CITY 1 PC

JE BR802 BRAKE ROD W/PIN CENTRA 1 PC

JE BR804 BRAKE ROD W/PIN STAR CITY A/W 1 PC

JE BR805 BRAKE ROD W/PIN APACHE RTR 1 PC

JE BR806 BRAKE ROD W/PIN TVS FLAME 1 PC

JE BR807 BRAKE ROD W/PIN STAR SPORT 1 PC

JE BR901 BRAKE ROD W/PIN RX100 -CRUX-YBX LIBERO 1 PC

JE BR902 BRAKE ROD W/PIN FZ 1 PC

JE BR903 BRAKE ROD W/PIN SZX 1 PC

JE BR1001 BRAKE ROD W/PIN BULLET 1 PC

BRAKE PEDAL

JE BP101 BRAKE PEDAL BOXER-CALIBER CT 100 1 PCS

JE BP102 BRAKE PEDAL KB 4S 1 PCS

JE BP103 BRAKE PEDAL PLATINA-DLX CT100 NEW 1 PCS

JE BP104 BRAKE PEDAL PLATINA A/W 1 PCS

JE BP105 BRAKE PEDAL DISCOVER-100 X C D 1 PCS

JE BP106 BRAKE PEDAL DISCOVER-112 1 PCS

JE BP107 BRAKE PEDAL DISCOVER -125 -135 1 PCS

JE BP108 BRAKE PEDAL DISCOVER-150 1 PCS

JE BP109 BRAKE PEDAL M80 MAJOR 1 PCS

JE BP110 BRAKE PEDAL M80   ZINC 1 PCS

JE BP111 BRAKE PEDAL PULSAR-135 1 PCS

JE BP112 BRAKE PEDAL PULSAR -150 -180 1 PCS

JE BP113 BRAKE PEDAL PULSAR-200 1 PCS

JE BP114 BRAKE PEDAL XCD-125 1 PCS

JE BP115 BRAKE PEDAL KB 100 1 PCS

JE BP116 BRAKE PEDAL BAJAJ BYK 1 PCS

JE BP117 BRAKE PEDAL BAJAJ WIND 125 1 PCS

JE BP201 BRAKE PEDAL H.H CD100 1 PCS

JE BP202 BRAKE PEDAL H.H CD DELUX. 1 PCS

JE BP203 BRAKE PEDAL SPLENDER CD DAWN 1 PCS

JE BP204 BRAKE PEDAL SUPER SPL GLAMOUR 1 PCS

JE BP205 BRAKE PEDAL CBZ XTREME HUNK 1 PCS



JE BP206 BRAKE PEDAL CBZ   KARIZMA 1 PCS

JE BP207 BRAKE PEDAL ACHIEVER 1 PCS

JE BP208 BRAKE PEDAL AMBITION 1 PCS

JE BP209 BRAKE PEDAL DREAM YUGA 1 PCS

JE BP210 BRAKE PEDAL PASSION X PRO 1 PCS

JE BP301 BRAKE PEDAL UNICORN 1 PCS

JE BP302 BRAKE PEDAL SHINE 1 PCS

JE BP303 BRAKE PEDAL STUNNER 1 PCS

JE BP304 BRAKE PEDAL TWISTER 1 PCS

JE BP305 BRAKE PEDAL DAZZNER 1 PCS

JE BP701 BRAKE PEDAL SUZUKI 1 PCS

JE BP702 BRAKE PEDAL SUZUKI HEAT ZEUS 1 PCS

JE BP703 BRAKE PEDAL SUZUKI GS-150R 1 PCS

JE BP801 BRAKE PEDAL APACHE 1 PCS

JE BP802 BRAKE PEDAL APACHE RTR 1 PCS

JE BP803 BRAKE PEDAL CENTRA 1 PCS

JE BP804 BRAKE PEDAL VICTOR GX STARCITY 1 PCS

JE BP805 BRAKE PEDAL VICTOR GLX 1 PCS

JE BP806 BRAKE PEDAL STAR SPORT 1 PCS

JE BP807 BRAKE PEDAL TVS FIERO GX-F2 1 PCS

JE BP808 BRAKE PEDAL VICTOR 1 PCS

JE BP809 BRAKE PEDAL TVS FIERO   1 PCS

JE BP810 BRAKE PEDAL TVS FLAME 1 PCS

JE BP811 BRAKE PEDAL TVS JIVE 1 PCS

JE BP901 BRAKE PEDAL RX 100 1 PCS

JE BP902 BRAKE PEDAL CRUX YBX 1 PCS

JE BP902A BRAKE PEDAL CRUX - R 1 PCS

JE BP903 BRAKE PEDAL FZ-6 1 PCS

JE BP904 BRAKE PEDAL R-15 1 PCS

JE BP905 BRAKE PEDAL FAZER 1 PCS

JE BP906 BRAKE PEDAL LIBERO 1 PCS

BRAKE CAM W/LEVER SET

JE BC101 BR. CAM W/L SET -BOXER -4S PLATINA -CT100 REAR 1 SET

JE BC101A BR. CAM LEVER ONLY -BOXER -4S PLATINA -CT100 REAR 1 PCS

JE BC101F BR. CAM W/L SET -BOXER -4S PLATINA -CT100 FRONT 1 SET



JE BC102 BR. CAM W/LEVER SET PULSAR REAR 1 SET

JE BC103 BR. CAM W/LEVER SET M80 REAR 1 SET

JE BC104 BR. CAM W/LEVER SET CALIBER -DISCOVER REAR 1 SET

JE BC104A BR. CAM LEVER ONLY CALIBER -DISCOVER REAR 1 PCS

JE BC105 BR. CAM W/LEVER SET DISCOVER 100-125 CC REAR 1 SET

JE BC201 BR. CAM W/LEVER SET H.HONDA REAR 1 SET

JE BC202 BR. CAM W/LEVER SET SPLENDER-PASSION REAR 1 SET

JE BC202A BRAKE CAM LEVER ONLY SPLENDER-PASSION REAR 1 PCS

JE BC202F BR. CAM W/LEVER SET SPLENDER-PASSION FRONT 1 SET

JE BC203 BR. CAM W/L SET -AMBITION CBZ-SUPER SPL-GLAM REAR 1 SET

JE BC204 BR. CAM W/LEVER SET KARIZMA REAR 1 SET

JE BC301 BR. CAM W/LEVER SET ACTIVA REAR 1 SET

JE BC302 BR. CAM W/LEVER SET UNICORN REAR 1 SET

JE BC303 BR. CAM W/LEVER SET ETERNO REAR 1 SET

JE BC304 BR. CAM W/LEVER SET SUNNY REAR 1 SET

JE BC305 BR. CAM W/LEVER SET SHINE REAR 1 SET

JE BC401 BR. CAM W/LEVER SET KINETIC REAR 1 SET

JE BC701 BR. CAM W/LEVER SET SUZUKI REAR 1 SET

JE BC801 BR. CAM W/LEVER SET APACHE REAR 1 SET

JE BC802 BR. CAM W/LEVER SET VICTOR-GLX-FIERO-STAREAR 1 SET

JE BC802A BRAKE CAM LEVER ONLY VICTOR-GLX-FIERO-STAREAR 1 PCS

JE BC803 BR. CAM W/LEVER SET STARCITY REAR 1 SET

JE BC803A BRAKE CAM LEVER ONLY STARCITY REAR 5 PCS

JE BC804 BR. CAM W/LEVER SET SUPER XL REAR 1 SET

JE BC901 BR. CAM W/LEVER SET RX100-LIBERO REAR 1 SET

JE BC901F BR. CAM W/LEVER SET RX100-LIBERO FRONT 1 SET

JE BC902 BR. CAM W/LEVER SET CRUX-YBX REAR 1 SET

CHAIN ADJUSTER SET

JE CA101 CHAIN ADJUSTER SET CT100 - M80 PLATINA 1 SET

JE CA101A CHAIN ADJUSTER -CT 100 PLATINA -M80 BIG HOLE 10 PCS

JE CA101B CHAIN ADJUSTER -CT 100 PLATINA -M80 SMALL HOLE 10 PCS

JE CA102 CHAIN ADJUSTER SET -WIND-4S CALIBER -PLATINA A/WKB -PULSAR 15 1 SET

JE CA102A CHAIN ADJUSTER -KB-PULSAR 150 CALIBER -PLATINA A/WSMALL HOLE 10 PCS

JE CA102B CHAIN ADJUSTER -KB-PULSAR 150 CALIBER -PLATINA A/WBIG HOLE 10 PCS

JE CA105 CHAIN ADJUSTER SET PULSAR DTSi DISCOVER 1 SET



JE CA105A CHAIN ADJUSTER SMALL HOLE PULSAR DTSi DISCOVER 10 PCS

JE CA105B CHAIN ADJUSTER BIG HOLE PULSAR DTSi DISCOVER 10 PCS

JE CA107 CHAIN ADJUSTER SET XCD-125 DTSi DISCOVER 100 1 SET

JE CA108 CHAIN ADJUSTER SET DISCOVER 125 ST 1 SET

JE CA201 CHAIN ADJUSTER SET AMBITION 1 SET

JE CA202 CHAIN ADJUSTER SET ACHIEVER 1 SET

JE CA203 CHAIN ADJUSTER SET CBZ 1 SET

JE CA204 CHAIN ADJUSTER SET - KRIZMA CBZ EXTREME -ZMR HUNK 1 SET

JE CA207 CHAIN ADJUSTER SET STUNNER- TWISTER GLAMOUR 1 SET

JE CA208 CHAIN ADJUSTER SET SPLENDER H.HONDA 1 SET

JE CA208A CHAIN ADJUSTER H.H. -SPL SMALL HOLE 10 PCS

JE CA208B CHAIN ADJUSTER H.H. -SPL BIG HOLE 10 PCS

JE CA209 CHAIN ADJUSTER SET -STREET SUPER SPL 1 SET

JE CA210 CHAIN ADJUSTER SET DREAM YUGA 1 SET

JE CA211 CHAIN ADJUSTER SET PASSION X PRO 1 SET

JE CA301 CHAIN ADJUSTER SET UNICORN 1 SET

JE CA302 CHAIN ADJUSTER SET SHINE 1 SET

JE CA701 CHAIN ADJUSTER SET -MAX SAMURAI-STAR SPORT FIERO 1 SET

JE CA702 CHAIN ADJUSTER SET ZEUS -HAYATE HEAT 1 SET

JE CA703 CHAIN ADJUSTER SET SUZUKI STAR SPORTS 1 SET

JE CA703A CHAIN ADJUSTER -SUZUKI STAR SPORTS SSMALL HOLE 10 PCS

JE CA703B CHAIN ADJUSTER -SUZUKI STAR SPORTS BIG HOLE 10 PCS

JE CA801 CHAIN ADJUSTER SET SUPER XL 1 SET

JE CA801A CHAIN ADJUSTER SUPER XL SMALL HOLE 10 PCS

JE CA801B CHAIN ADJUSTER SUPER XL BIG HOLE 10 PCS

JE CA803 CHAIN ADJUSTER SET VICTOR GL 1 SET

JE CA804 CHAIN ADJUSTER SET VICTOR GLX-F2-FX APACHE RTR 1 SET

JE CA805 CHAIN ADJUSTER SET STAR CITY CENTRA -STAR 1 SET

JE CA806 CHAIN ADJUSTER SET STAR CITY A/W APACHE -FLAM 1 SET

JE CA901 CHAIN ADJUSTER SET RX 100 LIBERO -G5 1 SET

JE CA902 CHAIN ADJUSTER SET FAZER- Z -FZ 16 -FZR PULSAR 200CC 1 SET

JE CA903 CHAIN ADJUSTER SET GLADIATOR YBR125 - SZ R 1 SET

CHAIN ADJUSTER CLUMPS - BOLT

JE CAC01 CHAIN ADJ. CLUMP DISCOVER-DTSI-XCD APACHE -STAR 10 PCS

JE CAC02 CHAIN ADJ. CLUMP CBZ EXTREME -UNICORHUNK -KARIZM 1 SET



JE CAC03 CHAIN ADJ. CLUMP CENTRA STAR 10 PCS

JE CAC04 CHAIN ADJ. CLUMP GLAMOUR FAZER 10 PCS

JE CAC07 CHAIN ADJ. CLUMP STUNNER TWISTER 10 PCS

JE CAC08 CHAIN ADJ. CLUMP VICTOR 1 SET

JE CAC09 MANGO ADJUSTER TVS 25 PCS

JE CAC10 NUT BOLT CHAIN ADJ. SUZUKI 8x50 10# PCS

JE CAC11 NUT BOLT CHAIN ADJ. RX 100 10 PCS

CHAIN COVER BOLT

JE CC201 BOLT CHAIN COVER SMALL H.HONDA M6 x 6 50 PCS

JE CC202 BOLT CHAIN COVER SMALL  O / S H.HONDA M7 x 6 50 PCS

JE CC203 BOLT CHAIN COVER BIG H.HONDA M6 x 10 50 PCS

JE CC204 BOLT CHAIN COVER BIG  O / S H.HONDA M7 x 10 50 PCS

JE CC901 BOLT CHAIN COVER RX 100 SMALL 50 PCS

JE CC902 BOLT CHAIN COVER RX 100 BIG 50 PCS

CLUTCH NUT & BUSH

JE RE204 NUT CLUTCH BAJAJ B 3W 10 PCS

JE CN102 NUT CLUTCH -RIGHT PULSAR RIGHT 10 PCS

JE CN103 NUT CLUTCH -LEFT PULSAR -DISCOVER LEFT 10 PCS

JE CN104 BUSH CLUTCH KB 4S 1 PC

JE CN201 NUT CLUTCH H.HONDA SMALL 10 PCS

JE CN202 NUT CLUTCH -BIG H.HONDA 10 PCS

JE CN203 BUSH CLUTCH H.HONDA 1 PC 

JE CN204 NUT CLUTCH CBZ -AMBITION KRIZMA 10 PCS

JE CN301 NUT CLUTCH-TWISTER-STUNNER UNICORN -SHINE -HUNKCBZ EXTREME 10 PCS

JE CN402 NUT CLUTCH KINETIC-ACTIVA BIG 10 PCS

JE CN701 NUT CLUTCH SUZUKI 10 PCS

JE CN702 NUT CLUTCH ACCESS SMALL 10 PCS

JE CN703 NUT CLUTCH ACCESS BIG 10 PCS

JE CN801 BUSH CLUTCH VICTOR 1 PC

JE CN802 NUT CLUTCH VICTOR 10 PCS

JE CN803 NUT CLUTCH-FLAME STAR CITY -CENTRA RIGHT 10 PCS

JE CN804 NUT CLUTCH-FLAME STAR CITY -CENTRA LEFT 10 PCS

JE CN901 BUSH CLUTCH RX 100 1 PC



CLUTCH LEVER BOLT W/NUT

JE LB101 NUT BOLT CLUTCH LEVER BAJAJ 10 PCS

JE LB102 NUT BOLT CLUTCH LEVER CHETAK 10 PCS

JE LB103 NUT BOLT CLUTCH LEVER CALIBER- PULSAR CT - 100 10 PCS

JE LB104 NUT BOLT CLUTCH LEVER BULLET-BOXER KB 4S 10 PCS

JE LB105 NUT BOLT CLUTCH LEVER CT 100-BOXER AT 10 PCS

JE LB106 NUT BOLT CLUTCH LEVER PULSAR BIG PULSAR 200CC 10 PCS

JE LB107 NUT BOLT CLUTCH LEVER DISCOVER 100 10 PCS

JE LB201 NUT BOLT CLUTCH LEVER H.HONDA 10 PCS

JE LB301 NUT BOLT CLUTCH LEVER ACTIVA -KINETIC SUZUKI 10 PCS

JE LB302 NUT BOLT CLUTCH LEVER UNICORN 10 PCS

JE LB801 NUT BOLT CLUTCH LEVER TVS 10 PCS

JE LB802 NUT BOLT CLUTCH LEVER VICTOR 10 PCS

JE RE202 NUT BOLT CLUTCH LEVER SUPER XL RE- CNG 25 PCS

JE LB901 NUT BOLT CLUTCH LEVER RX100 10 PCS

CENTRE STAND

JE CS101 CENTER STAND PULSAR 220 1 PC

JE CS102 CENTER STAND CALIBER KB 4S 1 PC

JE CS103 CENTER STAND CHETAK 1 PC

JE CS104 CENTER STAND CT100 PLATINA 1 PC

JE CS104A CENTER STAND PLATINA 125 CC 1 PC

JE CS105 CENTER STAND DISCOVER 100 CC 1 PC

JE CS106 CENTER STAND M80 1 PC

JE CS107 CENTER STAND PULSAR LS 135 X C D 1 PC

JE CS108 CENTER STAND PULSAR 1 PC

JE CS109 CENTER STAND PULSAR DTSi 1 PC

JE CS110 CENTER STAND SPIRIT 1 PC

JE CS111 CENTER STAND SUNNY ZIP 1 PC

JE CS200 CENTER STAND H.HONDA CD 100 1 PC

JE CS201 CENTER STAND HH CBZ 1 PC

JE CS202 CENTER STAND SPLENDER 1 PC

JE CS202C CENTER STAND COMP. SPLENDER 1 PC

JE CS203 CENTER STAND SUPER SPLENDER 1 PC

JE CS204 CENTER STAND CD  DLX 1 PC

JE CS301 CENTER STAND ACTIVA 1 PC



JE CS302 CENTER STAND SHINE 1 PC

JE CS303 CENTER STAND UNICORN 1 PC

JE CS401 CENTER STAND KINETIC 1 PC

JE CS601 CENTER STAND LML 1 PC

JE CS701 CENTER STAND SUZUKI 1 PC

JE CS702 CENTER STAND ACCESS 1 PC

JE CS801 CENTER STAND APACHE 1 PC

JE CS802 CENTER STAND SCOOTY 1 PC

JE CS803 CENTER STAND STAR CITY 1 PC

JE CS804 CENTER STAND SUPER XL 1 PC

JE CS805 CENTER STAND TVS OLD 1 PC

JE CS806 CENTER STAND TVS NEW 1 PC

JE CS807 CENTER STAND VICTOR 1 PC

JE CS808 CENTER STAND SCOOTY PEP 1 PC

JE CS901 CENTER STAND RX 100 1 PC

JE CS902 CENTER STAND CRUX 1 PC

CENTER STAND PIN

JE CP101 PIN CENTER STAND -CT 100-4S PULSAR-PLATINA CT 100 -4S 1 PC

JE CP102 PIN CENTER STAND DISCOVER 1 PC

JE CP103 PIN CENTER STAND M - 80 1 PC

JE CP104 PIN CENTER STAND PULSAR -135 XCD 1 PC

JE CP201 PIN CENTER STAND H.H-SPLENDER PASSION 1 PC

JE CP202 PIN CENTER STAND -CBZ AMBITION UNICORN 1 PC

JE CP301 PIN CENTER STAND ACTIVA 1 PC

JE CP302 PIN CENTER STAND ETERNO 1 PC

JE CP303 PIN CENTER STAND ACCESS 1 PC

JE CP304 PIN CENTER STAND SHINE -TWISTER PASSION X PRO 1 PC

JE CP305 PIN CENTER STAND DREAM YUGA DREAM NEO 1 PC

JE CP401 PIN CENTER STAND KINETIC 1 PC

JE CP801 PIN CENTER STAND - APACHE VICTOR -STARCITY SUZUKI 1 PC

JE CP803 PIN CENTER STAND KIT TVS 1 KIT

JE CP804 PIN CENTER STAND KIT SUPER XL 1 KIT

JE CP805 PIN CENTER STAND KIT SCOOTY PEP 1 KIT

JE CP901 PIN CENTER STAND RX 100 1 PC

JE CP902 PIN CENTER STAND CRUX 1 PC



CENTER STAND PATTI

JE CP201A PATTI CENTRE STAND HONDA 10 PCS

JE CP201B PATTI CENTRE STAND SPLENDER 25 PCS

JE CP701A PATTI CENTRE STAND SUZUKI 25 PCS

JE CP901A PATTI CENTRE STAND RX 100 25 PCS

DICKY PATTI -M/CYCLE

JE D001 DICKY PATTI -  I M/CYCLE SMALL 10 PCS

JE D002 DICKY PATTI -  I M/CYCLE BIG 10 PCS

JE D003 DICKY PATTI -  L M/CYCLE 10 PCS

JE D004 DICKY PATTI -  U PLATINA 10 PC 

JE D005 DICKY PATTI -  Z M/CYCLE 10 PCS

DRUM BOLT W/NUT

JE DB101 STUD KIT DRUM CHETAK STD 1 KIT

JE DB102 STUD KIT DRUM CHETAK OVER 1 KIT

JE DB103 STUD KIT DRUM CHETAK- LI STD 1 KIT

JE DB104 NUT BOLT DRUM KB 4S -CT 100 CALIBER 10 PCS

JE DB105 NUT BOLT DRUM PULSAR M10 10 PCS

JE DB201 NUT BOLT DRUM -SMALL M80-RX100 HONDA 10 PCS

JE DB202 NUT BOLT DRUM -BIG H.HONDA SPLENDER 10 PCS

JE DB301 NUT STUD DRUM ACTIVA OLD M 8 10 PCS

JE DB301A STUD DRUM ACTIVA  M 8 25 PCS

JE DB301B NUT BOLT DRUM ACTIVA NEW M 10 10 PCS

JE DB401 NUT BOLT DRUM KINETIC SCOOTY PEP 10 PCS

JE DB801 NUT BOLT DRUM STAR CITY VICTOR-SUZUKI 10 PCS

JE DB802 NUT BOLT DRUM SUPER XL M8 10 PCS

ENGINE PLATE

JE EP101 ENGINE PLATE CT 100 PLATINA 1 PCS

JE EP201 ENGINE PLATE SPLENDER 1 PCS

FORK BALLS KIT

JE BK101 FORK BALLS KIT CHETAK 1 KIT



JE BK102 FORK BALLS KIT KB 4S 1 KIT

JE BK103 FORK BALLS KIT PULSAR - KB 4S SUZUKI ### 1 KIT

JE BK201 FORK BALLS KIT H.HONDA 1 KIT

JE BK301 FORK BALLS KIT ACTIVA 1 KIT

JE BK302 FORK BALLS KIT SHINE 1 KIT

JE BK303 FORK BALLS KIT UNICORN -SHINE SUPER SPL. 1 KIT

JE BK401 FORK BALLS KIT KINETIC 1 KIT

JE BK701 FORK BALLS KIT SUZUKI 1 KIT

JE BK702 FORK BALLS KIT ACCESS 1 KIT

JE BK801 FORK BALLS KIT SUPER XL 1 KIT

JE BK802 FORK BALLS KIT STAR CITY RX 100 1 KIT

JE BK803 FORK BALLS KIT VICTOR 1 KIT

FORK BALL RACER SET  WITH BALLS

JE RA101 FORK BALL RACER SET KB 4S 1 SET

JE RA102 FORK BALL RACER SET PULSAR 200 CC 1 SET

JE RA103 FORK BALL RACER SET BAJAJ CHETAK 1 SET

JE RA201 FORK BALL RACER SET H.HONDA 1 SET

JE RA202 FORK BALL RACER SET GLAMOUR UNICORN 1 SET

JE RA301 FORK BALL RACER SET ACTIVA PLEASURE 1 SET

JE RA701 FORK BALL RACER SET SUZUKI 1 SET

JE RA801 FORK BALL RACER SET STAR CITY APACHE 1 SET

JE RA802 FORK BALL RACER SET VICTOR FIERO 1 SET

JE RA803 FORK BALL RACER SET CENTRA- FERO F2 VICTOR GLX 1 SET

JE RA901 FORK BALL RACER SET RX 100 CRUX 1 SET

FOOTREST BAR

JE FF101 FOOTREST BAR CALIBER 1 PC

JE FF102 FOOTREST BAR CT 100 PLATINA 1 PC

JE FF103 FOOTREST BAR KB 4S 1 PC

JE FF104 FOOTREST BAR X C D 1 PC

JE FF105 FOOTREST BAR DISCOVER 100 CC 1 SET

JE FF106 FOOTREST BAR PLATINA 125 1 PC

JE FF201 FOOTREST BAR H.HONDA 1 PC

JE FF701 FOOTREST BAR SUZUKI 1 PC



JE FF801 FOOTREST BAR VICTOR 1 PC

JE FF802 FOOTREST BAR STAR CITY 1 PC

JE FF805 FOOTREST BAR SUPER XL 1 PC

JE FF901 FOOTREST BAR CRUX 1 PC

JE FF902 FOOTREST BAR RX 100 1 PC

FOOTREST ASS.

JE FA101 FOOTREST REAR M80 -SUZUKI STAR CITY 1 PC

JE FA102 FOOTREST FRONT RUBBER CT 100 1 PC

JE FA103 FOOTREST REAR -DISCOVER PULSAR DTSi RIGHT 1 PC

JE FA104 FOOTREST REAR -DISCOVER PULSAR DTSi LEFT 1 PC

JE FA105 FOOTREST FRONT PULSAR DTSi RIGHT 1 PC

JE FA106 FOOTREST FRONT PULSAR DTSi LEFT 1 PC

JE FA107 FOOTREST REAR PLATINA CT 100 1 PC

JE FA201 FOOTREST FRONT -SPLENDER SUPER SPL.-GLAMOUR RIGHT 1 PC

JE FA202 FOOTREST FRONT -SPLENDER SUPER SPL.-GLAMOUR LEFT 1 PC

JE FA203 FOOTREST REAR - SPLENDER SUPER SPL.-GLAMOUR RIGHT 1 PC

JE FA204 FOOTREST REAR - SPLENDER SUPER SPL.-GLAMOUR LEFT 1 PC

JE FA209 FOOTREST REAR H.HONDA SS CD DELUXE 1 PC

JE FA210 FOOTREST FRONT RUBBER H.HONDA 1 PC

JE FA211 FOOTREST REAR -FRONT C B Z -UNICORN RIGHT 1 PC

JE FA212 FOOTREST REAR - FRONT C B Z -UNICORN LEFT 1 PC

JE FA301 FOOTREST REAR ACTIVA RIGHT 1 PC

JE FA302 FOOTREST REAR ACTIVA LEFT 1 PC

JE FA303 FOOTREST REAR SHINE RIGHT 1 PC

JE FA304 FOOTREST REAR SHINE LEFT 1 PC

JE FA401 FOOTREST REAR KINETIC RIGHT 1 PC

JE FA402 FOOTREST REAR KINETIC LEFT 1 PC

JE FA801 FOOTREST REAR APACHE RTR RIGHT 1 PC

JE FA802 FOOTREST REAR APACHE RTR LEFT 1 PC

JE FA803 FOOTREST FRONT RUBBER STAR CITY 1 PC

JE FA804 FOOTREST FRONT RUBBER VICTOR 1 PC

JE FA805 FOOTREST REAR VICTOR RIGHT 1 PC

JE FA806 FOOTREST REAR VICTOR LEFT 1 PC

JE FA901 FOOTREST FRONT FAZER RIGHT 1 PC

JE FA902 FOOTREST FRONT FAZER LEFT 1 PC



JE FA903 FOOTREST REAR FAZER RIGHT 1 PC

JE FA904 FOOTREST REAR FAZER LEFT 1 PC

JE FA1001 FOOTREST REAR (2pc) BULLET OLD - NEW 1 SET

FOOTREST PATTI KIT

JE FK101 FOOTREST PATTI KIT (2PC) PULSAR 1 KIT

JE FK201 FOOTREST PATTI KIT (2PC) AMBITION 1 KIT

JE FK202 FOOTREST PATTI KIT (2PC) CBZ 1 KIT

JE FK203 FOOTREST PATTI KIT (2PC) KRIZMA 1 KIT

JE FK204 FOOTREST PATTI KIT (2PC) SPLENDER 1 KIT

JE FK205 FOOTREST PATTI KIT (2PC) SUPER SPLENDER 1 KIT

JE FK801 FOOTREST PATTI KIT (2PC) VICTOR 1 KIT

FRONT SPROCKET PATTI

JE FP101 FRONT SPROCKET PATTI DISCOVER-4S-CENTRA CT100-PLATINA 25 PCS

JE FP102 FRONT SPROCKET PATTI DISCOVER 100 X C D 25 PCS

JE FP201 FRONT SPROCKET PATTI CBZ - FREEDOM PULSAR 25 PCS

JE FP202 FRONT /REAR SPROCKET PATTI H.HONDA -SPLENDER PASSION 25 PCS

JE FP701 FRONT SPROCKET PATTI SUZUKI 25 PCS

JE FP801 FRONT SPROCKET PATTI VICTOR OLD 25 PCS

JE FP802 FRONT SPROCKET PATTI STAR CITY-CRUX VICTOR NEW 25 PCS

JE FP901 FRONT SPROCKET PATTI RX 100 25 PCS

GEAR BOX SPROCKET

JE GB101 GEAR BOX SPROCKET KB 4S - 12 T 1 PCS

JE GB102 GEAR BOX SPROCKET CALIBER 13 T 1 PCS

JE GB103 GEAR BOX SPROCKET CT 100 1 PCS

JE GB104 GEAR BOX SPROCKET CT 100 NEW PLATINA 1 PCS

JE GB105 GEAR BOX SPROCKET DISCOVER 1 PCS

JE GB106 GEAR BOX SPROCKET DISCOVER 100 1 PCS

JE GB107 GEAR BOX SPROCKET DISCOVER 150 1 PCS

JE GB108 GEAR BOX SPROCKET PULSAR 1 PCS

JE GB109 GEAR BOX SPROCKET PULSAR 135 CC 1 PCS

JE GB110 GEAR BOX SPROCKET PULSAR 200 CC 1 PCS

JE GB201 GEAR BOX SPROCKET H.HONDA 1 PCS



JE GB202 GEAR BOX SPROCKET CD DELUXE 1 PCS

JE GB203 GEAR BOX SPROCKET CBZ 1 PCS

JE GB301 GEAR BOX SPROCKET UNICORN 1 PCS

JE GB302 GEAR BOX SPROCKET SHINE 1 PCS

JE GB701 GEAR BOX SPROCKET SUZUKI 1 PCS

JE GB801 GEAR BOX SPROCKET TVS CENTRA STAR 1 PCS

JE GB802 GEAR BOX SPROCKET VICTOR GLX STARCITY 1 PCS

JE GB803 GEAR BOX SPROCKET APACHE 1 PCS

JE GB804 GEAR BOX SPROCKET SUPER XL 1 PCS

JE GB901 GEAR BOX SPROCKET RX 100 1 PCS

GEAR LEVER

JE GL101 GEAR LEVER -PLATINA CALIBER CT 100 -4S 1 PCS

JE GL102 GEAR LEVER DISCOVER 1 PCS

JE GL103 GEAR LEVER PULSAR DTSi 1 PCS

JE GL104 GEAR LEVER PULSAR 135 1 PCS

JE GL105 GEAR LEVER X C D -DISCOVER 100 PLATINA N/M 1 PCS

JE GL201 GEAR LEVER H.HONDA CD 100 1 PCS

JE GL202 GEAR LEVER HONDA SS 1 PCS

JE GL203 GEAR LEVER SPLENDER 1 PCS

JE GL204 GEAR LEVER SUPER SPLENDER 1 PCS

JE GL205 GEAR LEVER CBZ EXTREME HUNK 1 PCS

JE GL301 GEAR LEVER UNICORN 1 PCS

JE GL302 GEAR LEVER SHINE 1 PCS

JE GL303 GEAR LEVER STUNNER 1 PCS

JE GL304 GEAR LEVER TWISTER 1 PCS

JE GL701 GEAR LEVER SUZUKI 1 PCS

JE GL702 GEAR LEVER ZEUS HEAT 1 PCS

JE GL801 GEAR LEVER APACHE 150 1 PCS

JE GL802 GEAR LEVER APACHE RTR 160 -180 1 PCS

JE GL803 GEAR LEVER CENTRA 1 PCS

JE GL804 GEAR LEVER VICTOR 1 PCS

JE GL805 GEAR LEVER STAR CITY 1 PCS

JE GL806 GEAR LEVER STAR SPORTS 1 PCS

JE GL901 GEAR LEVER RX 100 1 PCS

JE GL902 GEAR LEVER YAHAMA FZ-6 1 PCS



JE GL903 GEAR LEVER CRUX LIBERO 1 PCS

JE GL1201 GEAR LEVER RAJDOOT XLT 1 PCS

GEAR SHAFT

JE GS101 GEAR SHAFT CALIBER CT 100 1 PCS

JE GS102 GEAR SHAFT DISCOVER 1 PCS

JE GS103 GEAR SHAFT PULSAR 1 PCS

JE GS104 GEAR SHAFT PULSAR DIGITAL 1 PCS

JE GS105 GEAR SHAFT XCD 135 -PLATINA 125 DISCOVER 100 1 PCS

JE GS201 GEAR SHAFT H.HONDA SPLENDER 1 PCS

JE GS202 GEAR SHAFT CD DELUX 1 PCS

JE GS203 GEAR SHAFT CBZ 1 PCS

JE GS204 GEAR SHAFT SUPER SPLENDER GLAMOUR 1 PCS

JE GS301 GEAR SHAFT UNICORN 1 PCS

JE GS302 GEAR SHAFT STUNNER SHINE 1 PCS

JE GS701 GEAR SHAFT SUZUKI 1 PCS

JE GS801 GEAR SHAFT CENTRA 1 PCS

JE GS802 GEAR SHAFT VICTOR 1 PCS

JE GS803 GEAR SHAFT STAR CITY 1 PCS

JE GS901 GEAR SHAFT RX 100 1 PCS

JE GS902 GEAR SHAFT YAHAMA FZ 1 PCS

JE GS903 GEAR SHAFT CRUX 1 PCS

HALF AXLE W/NUT

JE HA101 HALF AXLE W/NUT BOXER -CT100 KB 4S -PLATINA 1 PCS

JE HA102 HALF AXLE W/NUT CALIBER PLATINA 1 PCS

JE HA103 HALF AXLE W/NUT PULSAR DTSi DISCOVER 1 PCS

JE HA104 HALF AXLE W/NUT PULSAR   1 PCS

JE HA105 HALF AXLE W/NUT M80 MAJOR 1 PCS

JE HA106 HALF AXLE W/NUT M 80 1 PCS

JE HA107 HALF AXLE W/NUT DISCOVER 100 X C D 1 PCS

JE HA108 HALF AXLE W/NUT PULSAR OLD 1 PCS

JE HA201 HALF AXLE W/NUT H.HONDA CD DAWN 1 PCS

JE HA201A HALF AXLE W/NUT -SPL. H.HONDA O.E TYPE 1 PCS

JE HA202 HALF AXLE W/NUT CBZ  AMBITION 1 PCS

JE HA203 HALF AXLE W/NUT GLAMOUR 1 PCS



JE HA204 HALF AXLE W/NUT PASSION PLUS SPLENDER PRO 1 PCS

JE HA205 HALF AXLE W/NUT PASSION PRO 1 PCS

JE HA206 HALF AXLE W/NUT SUPER SPLENDER 1 PCS

JE HA207 HALF AXLE W/NUT PASSION -X -PRO DREAM YUVA 1 PCS

JE HA208 HALF AXLE W/NUT CBZ EXTREME HUNK -KRIZMA 1 PCS

JE HA301 HALF AXLE W/NUT SHINE 1 PCS

JE HA302 HALF AXLE W/NUT UNICORN 1 PCS

JE HA303 HALF AXLE W/NUT STUNNER 1 PCS

JE HA304 HALF AXLE W/NUT TWISTER 1 PCS

JE HA701 HALF AXLE W/NUT SAMURAI -FIERO 1 PCS

JE HA801 HALF AXLE W/NUT SUPER XL SUZUKI NEW 1 PCS

JE HA802 HALF AXLE - VICTOR GLX APACHE STAR CITY NEW 1 PCS

JE HA803 HALF AXLE W/NUT -STAR CENTRA -VICTOR STAR SPORT 1 PCS

JE HA804 HALF AXLE W/NUT SUZUKI HEAT 1 PCS

JE HA901 HALF AXLE W/NUT RX 100 CRUX 1 PCS

JE HA902 HALF AXLE W/NUT F Z 1 PCS 

HEAD DOWEL KIT

JE HD101 HEAD DOWEL KIT KB 4S-PLATINA CALIBER-CT 10 1 KIT

JE HD104 HEAD DOWEL KIT PULSAR 1 KIT

JE HD105 HEAD DOWEL KIT RE -CNG 1 KIT

JE HD201 HEAD DOWEL KIT H.HONDA 10 KIT

JE HD202 HEAD DOWEL KIT SUPER SPLENDER 1 KIT

JE HD203 HEAD DOWEL KIT CBZ-UNICORN-KRIZMA AMBITION-FRE 1 KIT

JE HD301 HEAD DOWEL KIT ACTIVA 1 KIT

JE HD801 HEAD DOWEL KIT VICTOR 1 KIT

JE HD802 HEAD DOWEL KIT STARCITY 1 KIT

HEAD LIGHT MASK SCREW & PATTI

JE HL101 PATTI H.L. MASK -M 5 T 5 SMALL 100 PCS

JE HL102 PATTI H.L. MASK -M 5 DISCOVER CT100 100 PCS

JE HL103 PATTI NOSE CHETAK 100 PCS

JE HL201 PATTI H.L. MASK PASSION ACTIVA 100 PCS

JE HL202 SCREW H.L. MASK PASSION SCREW MUDGU 25 PCS

JE HL203 BOLT H.L. MASK SPLENDER 25 PCS

JE HL204 PATTI H.L. MASK SET (2PC) PASSION PRO BIG 1 SET



JE HL204A PATTI H.L. MASK SET (2PC) PASSION PRO DIGITAL 1 SET

JE HL205 PATTI H.L. MASK -M 5 PASSION PRO SMALL 100 PCS

JE HL206 PATTI H.L. MASK -M 5 PLEASURE 100 PCS

JE HL207 SCREW H.L. MASK CBZ 10 PCS

JE HL301 PATTI NOSE ACTIVA 100 PCS

JE HL401 PATTI H.L. MASK -M 6 KINETIC NO.10 50 PCS

JE HL801 PATTI H.L. MASK -M 6 TVS PULSAR 100 PCS

JE HL802 PATTI H.L. MASK VICTOR M 6 10 PCS

JE HL803 PATTI H.L. MASK STAR CITY M 6 25 PCS

JE HL00816 SCREW   H.L. MASK -BLACK PULSAR - CT 100 8x16 100 PCS

JE HL0816A SCREW   H.L. MASK - WHITE PULSAR - CT 100 8x16 100 PCS

JE HL00820 SCREW   H.L. MASK -BLACK DISCOVER 8x20 100 PCS

JE HL0820A SCREW   H.L. MASK - WHITE DISCOVER 8x20 100 PCS

JE HL01016 SCREW   H.L. MASK -BLACK VICTOR -M/CYCLE 10x16 100 PCS

JE HL1016A SCREW   H.L. MASK - WHITE M/CYCLE 10x16 100 PCS

JE HL01020 SCREW   H.L. MASK -BLACK M/CYCLE 10x20 100 PCS

JE HL1020A SCREW   H.L. MASK - WHITE M/CYCLE 10x20 100 PCS

KICK BOSS

JE KB101A KICK BOSS SPL. CALIBER 1 PC

JE KB102 KICK BOSS CT 100 PLATINA 1 PC

JE KB103 KICK BOSS DISCOVER 1 PC

JE KB104 KICK BOSS M80 MAJOR 1 PC

JE KB105 KICK BOSS PULSAR DTSi 1 PC

JE KB106 KICK BOSS DISCOVER 125-135CC 1 PC

JE KB201 KICK BOSS HH CBZ 1 PC

JE KB202 KICK BOSS SPLENDER 1 PC

JE KB203 KICK BOSS SUPER SPLENDER 1 PC

JE KB204 KICK BOSS DREAM YUGA TWISTER 1 PC

JE KB205 KICK BOSS PASSION PRO 1 PC

JE KB301 KICK BOSS H.SHINE 1 PC

JE KB302 KICK BOSS UNICORN 1 PC

JE KB701 KICK BOSS SUZUKI 1 PC

JE KB801 KICK BOSS CENTRA 1 PC

JE KB802 KICK BOSS STAR CITY 1 PC

JE KB803 KICK BOSS VICTOR /GLX 1 PC



JE KB901 KICK BOSS RX 100 1 PC

KICK BOSS LOCK KIT

JE BL101 KICK BOSS LOCK KIT CT 100 1 KIT

JE BL102 KICK BOSS LOCK KIT CALIBER 1 KIT

JE BL103 KICK BOSS LOCK KIT M80 MAJOR 1 KIT

JE BL201 KICK BOSS LOCK KIT SPLENDER 1 KIT

JE BL701 KICK BOSS LOCK KIT SUZUKI 1 KIT

JE BL801 KICK BOSS LOCK KIT CENTRA 1 KIT

JE BL802 KICK BOSS LOCK KIT VICTOR STAR CITY 1 KIT

JE BL803 KICK BOSS LOCK KIT SUPER XL 1 KIT

JE BL901 KICK BOSS LOCK KIT RX 100 1 KIT

KICK LEVER ASS.

JE KL101 KICK LEVER ASS. BOXER CALIBER 1 PCS

JE KL102 KICK LEVER ASS. CHETAK ZINC 1 PCS

JE KL103 KICK LEVER ASS. CHETAK BLACK 1 PCS

JE KL104 KICK LEVER ASS. DISCOVER 125- 135CC 1 PCS

JE KL105 KICK LEVER ASS. M-80 OLD 1 PCS

JE KL106 KICK LEVER ASS. M80 FOLDING 1 PCS

JE KL107 KICK LEVER ASS. M80 MAJOR 1 PCS

JE KL108 KICK LEVER ASS. PLATINA -DIS. 112 CT 100 1 PCS

JE KL109 KICK LEVER ASS. SUNNY 1 PCS

JE KL110 KICK LEVER ASS. PULSAR DTSi 1 PCS

JE KL111 KICK LEVER ASS. DISCOVER 100 -XCD PLATINA 125 1 PCS

JE KL112 KICK LEVER ASS. PULSAR 135 1 PCS

JE KL113 KICK LEVER ASS. DISCOVER ST DISCOVER 100 1 PCS

JE KL201 KICK LEVER ASS. H.HONDA 1 PCS

JE KL203 KICK LEVER ASS. CBZ AMBITION 1 PCS

JE KL205 KICK LEVER ASS. PASSION PRO SPL NXG 1 PCS

JE KL206 KICK LEVER ASS. SPLENDER 1 PCS

JE KL207 KICK LEVER ASS. SUPER SPLENDER GLAMOUR 1 PCS

JE KL301 KICK LEVER ASS. ACTIVA 100- 125 CC PLEASURE 1 PCS

JE KL302 KICK LEVER ASS. -MAESTRO ACTIVA NEW AVIATOR 1 PCS

JE KL303 KICK LEVER ASS. ETERNO 1 PCS

JE KL401 KICK LEVER ASS. KINETIC 1 PCS



JE KL402 KICK LEVER ASS. K.NOVA 1 PCS

JE KL403 KICK LEVER ASS. K.SAFARI 1 PCS

JE KL404 KICK LEVER ASS. MAHINDRA DURO 1 PCS

JE KL501 KICK LEVER ASS. LML 1 PCS

JE KL701 KICK LEVER ASS. SUZUKI 1 PCS

JE KL702 KICK LEVER ASS. ACCESS 1 PCS

JE KL801 KICK LEVER ASS. CENTRA 1 PCS

JE KL802 KICK LEVER ASS. STARCITY 1 PCS

JE KL803 KICK LEVER ASS. SCOOTY 1 PCS

JE KL804 KICK LEVER ASS. SUPER XL 1 PCS

JE KL805 KICK LEVER ASS. VICTOR JIVE 1 PCS

JE KL807 KICK LEVER ASS. TVS WEIGO 1 PCS

JE KL808 KICK LEVER ASS. APACHE RTR 1 PCS

JE KL901 KICK LEVER ASS. RX 100 1 PCS

JE KL902 KICK LEVER ASS. CRUX 1 PCS

JE KL806 KICK KALLI W/KIT SUPER XL 1 PCS

KICK RACHET SET

JE KR101 KICK RACHET CHETAK RE 3W 1 PCS

JE KR102 KICK RACHET M80 1 PCS

JE KR103 KICK RACHET SET CT100 KB 4S 1 SET

JE KR201 KICK RACHET SET H.HONDA 1 SET

JE KR301 KICK RACHET ACTIVA OLD 1 PCS

JE KR301A KICK RACHET SET ACTIVA OLD 1 SET

JE KR302 KICK RACHET ACTIVA NEW 6 PCS

JE KR401 KICK RACHET SET KINETIC 1 SET

JE KR801 KICK RACHET SET TVS SCOOTY 1 SET

JE KR802 KICK RACHET SET W/LOCK SUPER XL 8 TH 1 SET

JE KR802A KICK RATCHET LOCK SUPER XL 25 PCS

KICK SHAFT

JE KS101 KICK SHAFT CHETAK 1 PCS

JE KS102 KICK SHAFT CT100 -4S PLATINA 100CC 1 PCS

JE KS103 KICK SHAFT DISCOVER 1 PCS

JE KS104 KICK SHAFT M80 MAJOR 1 PCS

JE KS105 KICK SHAFT SPIRIT 1 PCS



JE KS106 KICK SHAFT SUNNY ZIP 1 PCS

JE KS107 KICK SHAFT PULSAR 1 PCS

JE KS108 KICK SHAFT DISCOVER 100 XCD 135 1 PCS

JE KS109 KICK SHAFT XCD 125 PLATINA 125 1 PCS

JE KS201 KICK SHAFT H.HONDA 1 PCS

JE KS202 KICK SHAFT H.H CBZ 1 PCS

JE KS301 KICK SHAFT ACTIVA OLD ACTIVA 125CC 1 PCS

JE KS301A KICK SHAFT ACTIVA NEW AVIATOR 1 PCS

JE KS301B KICK SHAFT ACTIVA H E T 1 PCS

JE KS302 KICK SHAFT ETERNO 1 PCS

JE KS401 KICK SHAFT KINETIC 1 PCS

JE KS402 KICK SHAFT K.NOVA 1 PCS

JE KS403 KICK SHAFT MAHINDRA DURO 1 PCS

JE KS501 KICK SHAFT LML 1 PCS

JE KS701 KICK SHAFT SUZUKI 1 PCS

JE KS702 KICK SHAFT SUZUKI HEAT 1 PCS

JE KS801 KICK SHAFT SCOOTY 1 PCS

JE KS801A KICK SHAFT SCOOTY PEP 1 PCS

JE KS802 KICK SHAFT SUPER XL 1 PCS

JE KS803 KICK SHAFT VICTOR 1 PCS

JE KS804 KICK SHAFT STAR CITY 1 PCS

JE KS805 KICK SHAFT STAR SPORT 1 PCS

JE KS806 KICK SHAFT STAR 110 CC 1 PCS

JE KS807 KICK SHAFT APACHE 1 PCS

JE KS901 KICK SHAFT RX 100 1 PCS

KIT CLUTCH SCREW

JE CL101 SCREW KIT CLUTCH  (10pc) KB 4S M 6 1 KIT

JE CL102 SCREW KIT CLUTCH (10pc) PULSAR DTSi M 6 1 KIT

JE CL201 BOLT KIT CLUTCH  (8pc) H.HONDA M 6 1 KIT

JE CL301 BOLT KIT CLUTCH  (8pc) ACTIVA M 6 1 KIT

JE CL401 SCREW KIT CLUTCH  (9pc) KINETIC M 6 1 KIT

JE CL701 SCREW KIT CLUTCH  (8pc) SUZUKI M 6 1 KIT

JE CL702 SCREW KIT CLUTCH  (10pc) FIERO M 6 1 KIT

JE CL703 SCREW KIT CLUTCH  (16pc) SCOOTY PEP M 6 1 KIT

JE CL801 SCREW KIT CLUTCH  (20pc) SUPER XL M 6 1 KIT



JE CL901 SCREW KIT CLUTCH  (9pc) RX 100 M 6 1 KIT

KIT CHAMBER SCREW

JE CH101 SCREW KIT CHAMBER  (29pc) KB 4S M 6 1 KIT

JE CH201 BOLT KIT CHAMBER  (18pc) H.HONDA M 6 1 KIT

JE CH701 SCREW KIT CHAMBER  (25pc) SUZUKI M6-M5 1 KIT

JE CH702 SCREW KIT CHAMBER  (32pc) FIERO M 6 1 KIT

JE CH801 SCREW KIT CHAMBER  (28pc) SUPER XL M 6 1 KIT

JE CH802 BOLT KIT CHAMBER  (22pc) VICTOR M 6 1 KIT

JE CH803 SCREW KIT CHAMBER  (23pc) STAR CITY M 6 1 KIT

JE CH901 SCREW KIT CHAMBER  (62pc) RX 100 M 6 1 KIT

JE CH902 SCREW KIT CHAMBER  (20pc) CRUX M 6 1 KIT

KIT MAGNET SCREW

JE MS101 SCREW KIT MAGNET (8pc) KB 4S 6 MM 1 KIT

JE MS102 SCREW KIT MAGNET (8pc) PLATINA - CT 100 6 MM 1 KIT

JE MS103 SCREW KIT MAGNET (6pc) PULSAR DTSi 6MM 1 KIT

JE MS201 SCREW KIT MAGNET (3pc) H.HONDA 6 MM 1 KIT

JE MS202 SCREW KIT MAGNET (3pc) SPLENDER 6 MM 1 KIT

JE MS301 SCREW KIT MAGNET (7pc) ACTIVA 6 MM 1 KIT

JE MS701 SCREW KIT MAGNET (6pc) SUZUKI 5 MM 1 KIT

JE MS702 SCREW KIT MAGNET (9pc) FIERO 6 MM 1 KIT

JE MS801 SCREW KIT MAGNET (16pc) SUPER XL 6 MM 1 KIT

JE MS901 SCREW KIT MAGNET (9pc) RX 100 6 MM 1 KIT

L- KEY BOLTS

JE L0512 BOLT G.B.SP -CT100 COIL SCREW -KB M5x12 25 PCS

JE L0516 BOLT PETROL TANK CAP PULSAR DTSi M5x16 25 PCS

JE L0525 L- KEY BOLT M5x25 25 PCS

JE L0612 BOLT G.B.SPROCKET PULSAR M6x12 25 PCS

JE L0615 BOLT CLUTCH ONE WAY DISCOVER PULSAR 25 PCS

JE L0620 BOLT IGNITION PULSAR M6x20 25 PCS

JE L0625 L- KEY BOLT M6x25 25 PCS

JE L0635 L- KEY BOLT M6x35 50 PCS

JE L0655 BOLT HANDLE MUTHA   PULSAR  M6x55 10 PCS

JE L0820 BOLT IGNITION -HH -SPL. TIMING SP. BOLT -PULSM8x20 10 PCS



JE L0825 BOLT ING. -SUPER SPL -FORK -HH MUD.BOLT- PULSAR KICK BOLT-RX 10 PCS

JE L0840 BOLT SEAT CARRIER PASSION M8x40 10 PCS

JE L1030 BOLT S.GUARD DISCOVER M10x30 10 PCS

JE L1045 BOLT SAREE GUARD-CT 100 BOXER- PLATINA-KB4S M10x45 10 PCS

JE L1060 BOLT S.GUARD PULSAR DTSi M10x60 10 PCS

JE LS512 BOLT SILENCER CAP PULSAR 25 PCS

JE LS058 BOLT SILENCER CAP DISCOVER -PLATINA SMALL 25 PCS

JE LD006 L-KEY BOLT SET DISC BRAKE PULSAR-CBZ APACHE 1 SET

OIL DRAIN BOLT

JE OB101 OIL BOLT STD BAJAJ 11 NO. 25 PCS

JE OB102 OIL BOLT O/S BAJAJ 14 NO. 25 PCS

JE OB103 OIL BOLT STD NEW BAJAJ 14 NO. 50 PCS

JE OB104 OIL BOLT O/S NEW BAJAJ 17 NO. 25 PCS

JE OB105 OIL BOLT KB 4S 25 PCS

JE OB106 OIL BOLT DISCOVER 100CC X C D 1 PCS

JE OB107 OIL BOLT DISCOVER  PULSAR 1 PCS

JE OB201 OIL BOLT H.HONDA -KB4S STD 10 PCS

JE OB202 OIL BOLT H.HONDA -KB4S OVER 10 PCS

JE OB203 OIL BOLT WASHER H.HONDA ACTIVA 100 PCS

JE OB301 OIL BOLT ACTIVA 10 PCS

JE OB302 OIL BOLT- UNICORN TAPET NUT -CBZ 1 PC 

JE OB701 OIL BOLT SUZUKI 10 PCS

JE OB901 OIL BOLT RX 100 10 PCS

REAR NUMBER PLATE PATTI W/BOLT

JE RP101 RR NO.PLATE PATTI PULSAR 1 PC

JE RP201 RR NO.PLATE PATTI SPLENDER PASSION 1 PC

JE RP202 RR NO.PLATE PATTI GLAMOUR 1 PC

JE RP801 RR NO.PLATE PATTI STAR CITY 1 PC

REAR SPROCKET PATTI

JE RS101 REAR SPROCKET PATTI KB 4S 50 PCS

JE RS102 REAR SPROCKET PATTI KB 100 50 PCS

JE RS103 REAR SPROCKET PATTI M 80 50 PCS



JE RS104 REAR SPROCKET PATTI PULSAR 4 HOLE 50 PCS

JE RS105 REAR SPROCKET PATTI PULSAR 50 PCS

JE RS701 REAR SPROCKET PATTI SUZUKI 50 PCS

JE RS801 REAR SPROCKET PATTI VICTOR 50 PCS

JE RS901 REAR SPROCKET PATTI RX 100 50 PCS

SHIELD SCREW

JE HS301 SHIELD SCREW -ACTIVA NOSE SCREW -BAJAJ 10x19 100 PCS

JE HS301A SHIELD SCREW ACTIVA  10x19 100 PCS

JE HS302 SHIELD SCREW-MEDIUM ACTIVA  10x25 100 PCS

JE HS303 SHIELD- BEEDING SCREW ACTIVA  10x32 100 PCS

JE HS303A SHIELD- BEEDING SCREW SPL. ACTIVA 10x32- BK 100 PCS

JE HS401 SHIELD SCREW -KINETIC SCREW TAIL -PASSION 8x12 100 PCS

JE HS801 SHIELD -SILENCER GRILL SCREW-XL SCREW MUD. FLAP-HH 8x12 100 PCS

SILENCER PATTI

JE SI201 SILENCER PATTI BK PASSION 1 PC

JE SI202 SILENCER PATTI PASSION CENTRE SPOT 1 PC

JE SI203 SILENCER PATTI C.P SPLENDER 1 PC

JE SI204 SILENCER PATTI C.P GLAMOUR 1 PC

JE SI205 SILENCER PATTI PASSION PRO BIG 1 PC

JE SI206 SILENCER PATTI BIG SUPER SPLENDER GLAMOUR 1 PC

JE SI207 SILENCER PATTI SPLENDER DELUX BIG 1 PC

JE SI208 SILENCER END CAP SPLENDER PASSION + 1 PC

SIDE STAND

JE SS001 SIDE STAND BOLT H.HONDA -DISCOVER 12x34 10 PCS

JE SS002 SIDE STAND BOLT SUZUKI  -KB 4S TARZAN BAR B 10 PCS

JE SS003 SIDE STAND BOLT ACTIVA 2013 10x70 10 PCS

JE SS102 SIDE STAND CHETAK 1 PCS

JE SS103 SIDE STAND CHETAK LONG LML 1 PCS

JE SS104 SIDE STAND CALIBER - XCD PULSAR 1 PCS

JE SS105 SIDE STAND DISCOVER 1 PCS

JE SS106 SIDE STAND M80 OLD 1 PCS

JE SS107 SIDE STAND M80 MAJOR RR 1 PCS

JE SS108 SIDE STAND M80 CENTRE FT 1 PCS



JE SS109 SIDE STAND M80 W/FOOTREST 1 PCS

JE SS110 SIDE STAND PULSAR DTSi 1 PCS

JE SS112 SIDE STAND PULSAR UG3i 1 PCS

JE SS114 SIDE STAND PLATINA-BOXER CT 100 -4S 1 PCS

JE SS115 SIDE STAND - 220 CC PULSAR -200 CC DIGITAL 1 PCS

JE SS202 S/STAND-PULSAR 135-KARIZMA  CBZ EXTREME-PLATINAAMBITION-ACH 1 PCS

JE SS203 SIDE STAND H.HONDA CD 100 1 PCS

JE SS205 SIDE STAND SPLENDER SUPER SPL. 1 PCS

JE SS205A SIDE STAND O.E. TYPE SPLENDER 1 PCS

JE SS206 SIDE STAND H.HONDA  S S 1 PCS

JE SS207 SIDE STAND SPLENDER PRO 1 PCS

JE SS208 SIDE STAND DREAM YUGA - NEO PASSION X PRO 1 PCS

JE SS301 SIDE STAND ACTIVA - ACCESS PLEASURE 1 PCS

JE SS302 SIDE STAND ACTIVA  125cc MAESTRO 1 PCS

JE SS303A SIDE STAND O.E. TYPE ACTIVA  2013 1 PCS

JE SS304 SIDE STAND AVIATOR 1 PCS

JE SS305 SIDE STAND ETERNO 1 PCS

JE SS306 SIDE STAND STUNNER 1 PCS

JE SS307 SIDE STAND UNICORN-SHINE TWISTER 1 PCS

JE SS401 SIDE STAND KINETIC W/RUBBER 1 PCS

JE SS601 SIDE STAND MAHINDRA DURO 1 PCS

JE SS701 SIDE STAND SUZUKI SUPER XL 1 PCS

JE SS702 SIDE STAND SUZUKI ACCESS 1 PCS

JE SS801 SIDE STAND SUPER XL NEW 1 PCS

JE SS802 SIDE STAND SUPER XL BELL TYPE 1 PCS

JE SS803 SIDE STAND APACHE 1 PCS

JE SS804 SIDE STAND CENTRA -FIERO VICTOR GLX 1 PCS

JE SS805 SIDE STAND VICTOR STAR CITY 1 PCS

JE SS807 SIDE STAND SCOOTY PEP 1 PCS

JE SS808 SIDE STAND WIEGO JUPITER 1 PCS

JE SS809 SIDE STAND APACHE RTR 1 PCS

JE SS901 SIDE STAND RX100 CRUX 1 PCS

JE SS902 SIDE STAND YAHAMA FZ 1 PCS

JE SS903 SIDE STAND LIBERO 1 PCS

JE SS1001 SIDE STAND BULLET ELECTRA 1 PCS



SPROCKET BOLT W/NUT

JE SP101 NUT BOLT SPROCKET CALIBER- CT100 PLATINA-4S 10 PCS

JE SP101A NUT SPROCKET KB 4S M10 10 PCS

JE SP102 NUT BOLT SPROCKET DISCOVER M10 10 PCS

JE SP102A NUT BOLT SPROCKET DISCOVER 100 X C D 10 PCS

JE SP103 NUT BOLT SPROCKET M 80 M8 10 PCS

JE SP104 NUT BOLT SPROCKET PULSAR NEW M8 10 PCS

JE SP201 NUT BOLT SPROCKET H.HONDA STD 10 PCS

JE SP202 NUT BOLT SPROCKET H.HONDA OVER 25 PCS

JE SP801 NUT BOLT SPROCKET SUZUKI- VICTOR SUPER XL - *CI 10 PCS

JE SP901 NUT BOLT SPROCKET RX 100 M8 10 PCS

JE SP901A NUT SPROCKET RX 100

SPEEDO METER WERM 

JE SN101 S.M.WERM SUPER YELLOW 1 PC 

JE SN103 S.M.WERM - CHETAK RE 3W BLACK 1 PC 

JE SN104 S.M.WERM SET CALIBER-PLATINA BOXER-CT100-4 1 SET

JE SN105 S.M.WERM SET -NYLON PULSAR DTSI DISCOVER-CAL. 1 SET

JE SN106 S.M.WERM SET -NYLON PULSAR   1 SET

JE SN107 S.M.WERM SET -NYLON M 50 1 SET

JE SN108 S.M.WERM SET -NYLON KB 100 DISCOVER 1 SET

JE SN201 S.M.WERM SET -NYLON CD DAWN CD 100 1 SET

JE SN202 S.M.WERM SET -NYLON SPLENDER PASSION  1 SET

JE SN203 S.M.WERM SET -NYLON SUPER SPL + GLAMOURPASSION + 1 SET

JE SN301 S.M.WERM SET -NYLON SHINE DREAM YUGA 1 SET

JE SN401 S.M.WERM SET -NYLON KINETIC 1 SET

JE SN501 S.M.WERM LML 1 PC 

JE SN701 S.M.WERM SET -NYLON SUZUKI OLD FIERO 1 SET

JE SN801 S.M.WERM SET CENTRA 1 SET

JE SN802 S.M.WERM SET -NYLON STARCITY STAR 1 SET

JE SN803 S.M.WERM SET -NYLON VICTOR -GLX 1 SET

JE SN901 S.M.WERM SET - NYLON RX 100 1 SET

SPEEDO METER WERM STEEL 

JE SW101 S.M.WERM STEEL CHETAK 1 PC

JE SW102 S.M.WERM SET STEEL CALIBER-4S CT100-PLATINA 1 SET 



JE SW103 S.M.WERM SET STEEL DISCOVER - KB 100 CALIBER 115 1 SET 

JE SW104 S.M.WERM SET STEEL PULSAR DTSi- 135CC DISCOVER 135 1 SET 

JE SW201 S.M.WERM SET STEEL CD DAWN CD100 1 SET 

JE SW202 S.M.WERM STEEL -ACHIEVER SPLENDER - HH SS PASSION 1 SET 

JE SW203 S.M.WERM STEEL -GLAMOUR SUPER SPL + PASSION + 1 SET 

JE SW204 S.M.WERM SET STEEL CBZ EXTREME - HUNK UNICORN 1 SET 

JE SW205 S.M.WERM SET STEEL CBZ- AMBITION KRIZMA 1 SET 

JE SW301 S.M.WERM SET STEEL DREAM YUGA SHINE 1 SET 

JE SW302 S.M.WERM SET STEEL STUNNER TWISTER 1 SET 

JE SW701 S.M.WERM SET STEEL SUZUKI OLD FIERO 1 SET 

JE SW702 S.M.WERM SET STEEL SAMURAI 1 SET 

JE SW801 S.M.WERM SET STEEL CENTRA 1 SET 

JE SW802 S.M.WERM SET STEEL STAR- STARCITY 1 SET 

JE SW803 S.M.WERM SET STEEL VICTOR -GLX 1 SET 

JE SW804 S.M.WERM SET STEEL HEAT - ZEUS HAYATE 1 SET 

SPRINGS

JE SG101 BRAKE SHOE SPRING CHETAK 50 PCS

JE SG102 BRAKE SHOE SPRING -GLAMOUR H.HONDA-ACHIEVER SPLENDER 50 PCS

JE SG103 BRAKE SHOE SPRING-DISCOVER CT 100-PULSAR KB 4S-CALIBER 50 PCS

JE SG104 BRAKE SHOE SPRING-M80-SUNNY-CE SUZUKI-STAR-VICTOR APACHE-SCCO 50 PCS

JE SG105 BRAKE SHOE SPRING ACCESS HEAT 50 PCS

JE SG106 BRAKE SHOE SPRING-FREEDOM ACTIVA UNICORN 50 PCS

JE SG107 BRAKE SHOE SPRING KINETIC 50 PCS

JE SG108 BRAKE SHOE SPRING YAHAMA 50 PCS

JE SG151 BRAKE ROD SPRING M/CYCLE 50 PCS

JE SG204 BRAKE PEDAL SPRING  PULSAR DTSi 1 PCS

JE SG205 BRAKE PEDAL SPRING  DISCOVER 10 PCS

JE SG206 BRAKE PEDAL SPRING  CALIBER -4S CT 100-PLATIN 1 PCS

JE SG207 BRAKE PEDAL SPRING H.HONDA 25 PCS

JE SG208 BRAKE PEDAL SPRING SPLENDER 10 PCS

JE SG209 BRAKE PEDAL SPRING SUZUKI 10 PCS

JE SG210 BRAKE PEDAL SPRING RX 100 10 PCS

JE SG211 BRAKE PEDAL SPRING VICTOR FREEDOM 10 PCS



JE SG251 BRAKE LIGHT SWITCH SPRING CT 100-DISCOVER KB 4S 25 PCS

JE SG252 BRAKE LIGHT SWITCH SPRING PULSAR 25 PCS

JE SG253 BRAKE LIGHT SWITCH SPRING H.HONDA 25 PCS

JE SG254 BRAKE LIGHT SWITCH SPRING UNICORN 25 PCS

JE SG255 BRAKE LIGHT SWITCH SPRING SUZUKI 25 PCS

JE SG256 BRAKE LIGHT SWITCH SPRING VICTOR-STAR-CENTRA RX 100 25 PCS

JE SG301A CENTER STAND SPRING CHETAK SPL. 1 PCS

JE SG302 CENTER STAND SPRING LML 1 PC 

JE SG303 CENTER STAND SPRING H.HONDA 1 PCS

JE SG304 CENTER STAND SPRING SPLENDER -CBZ GLAMOUR 1 PCS

JE SG305 CENTER STAND SPRING 4S-CT100-PULSAR-CALIDISCOVER 1 PC 

JE SG306 CENTER STAND SPRING ACTIVA 1 PCS

JE SG307 CENTER STAND SPRING SUZUKI 1 PCS

JE SG308A CENTER STAND SPRING SCOOTY PEP 1 PC

JE SG308 CENTER STAND SPRING VICTOR-APACHE-CENT STAR CITY 1 PC 

JE SG309 CENTER STAND SPRING RX 100-CRUX YBX 1 PCS

JE SG325 CLUTCH LEVER RETURN SPRING H.HONDA 25 PCS

JE SG326 SEAT LEATHER SPRING CHETAK 50 PCS

JE SG327 SEAT SPRING CHETAK 1 PCS

JE SG351 KICK SPRING -CT 100 PLATINA-CALIBER BOXER - KB 4S 1 PCS

JE SG352 KICK SPRING H.HONDA SPLENDER 1 PCS

JE SG353 KICK SPRING SUPER SPLENDER 1 PCS

JE SG354 KICK SPRING CBZ 1 PCS

JE SG355 KICK SPRING KINETIC 1 PCS

JE SG356 KICK SPRING STAR CITY CENTRA 1 PCS

JE SG356A KICK SPRING STAR SPORT 1 PCS

JE SG357 KICK SPRING YAHAMA 1 PCS

JE SG358 KICK SPRING VICTOR-FIERO APACHE 1 PCS

JE SG359 KICK SPRING DISCOVER 1 PCS

JE SG360 KICK SPRING SUPER XL 1 PCS



JE SG400 SIDE STAND SPRING CHETAK 10 PCS

JE SG401 SIDE STAND SPRING BOXER-CT100-PLATINA DTSi-DISCOVER 10 PCS

JE SG401A SIDE STAND SPRING SPL. BOXER-CT100-PLATINA DTSi-DISCOVER 10 PCS

JE SG402 SIDE STAND SPRING H.HONDA 10 PCS

JE SG403 SIDE STAND SPRING SPLENDER 10 PCS

JE SG404 SIDE STAND SPRING SPL. SPLENDER 10 PCS

JE SG406 S/ STAND SPRING -ACTIVA SUZUKI -PEP KINETIC-CHETA 10 PCS

JE SG407 SIDE STAND SPRING VICTOR STAR CITY 10 PCS

JE SG408 SIDE STAND SPRING RX 100 10 PCS

JE SG409 SIDE STAND SPRING SUPER XL BELL TYPE 10 PCS

JE SG701 FRONT FORK SPRING SHOCKER SPRING CHETAK 1 PCS

JE SG702 FRONT FORK SPRING CT100-PLATINA KB 4S 1 SET

JE SG703 FRONT FORK SPRING PULSAR CALIBER 1 SET

JE SG704 FRONT FORK SPRING H.HONDA 1 SET

JE SG705 FRONT FORK SPRING SPLENDER-GLAMOUR SUPER SPL + 1 SET

JE SG706 FRONT FORK SPRING ACTIVA 1 SET

JE SG707 FRONT FORK SPRING VICTOR STARCITY 1 SET

STEEL SCREW (PAN HEAD)

JE S0613 STEEL SCREW  6x13 100 PCS

JE S0619 STEEL SCREW  HORN SCREW -CHETAK6x19 100 PCS

JE S0625 STEEL SCREW  6x25 100 PCS

JE S0632 STEEL SCREW  6x32 100 PCS

JE S0813 STEEL SCREW  8x13 200 PCS

JE S0819 STEEL SCREW  B.L.SCREW-SPL + 8x19 100 PCS

JE S0825 BEEDING -JUPITER-WEIGO STEEL SCREW 8x25 100 PCS

JE S0832 STEEL SCREW  B.L.SCREW-H.H-LML-99 8x32 100 PCS

JE S1013 STEEL SCREW  10x13 200 PCS

JE S1019 STEEL SCREW  10x19 100 PCS

JE S1025 STEEL SCREW  10x25 100 PCS

JE S1032 STEEL SCREW  10x32 100 PCS

ACTIVA



JE A101 ACC. YOK FIXING BOLT ACTIVA 25 PCS

JE A102 AIR FILTER COVER BOLT ACTIVA 25 PCS

JE A151 BATTERY CLUMP BOLT ACTIVA 25 PCS

JE A152 NUT BOLT BATTERY SPL. ACTIVA NO. 8 100 PCS

JE A152A NUT BATTERY SPL. ACTIVA NO. 8 100 PCS

JE A201 CYLINDER HEAD COVER BOLT ACTIVA 25 PCS

JE A202 CYLINDER HEAD COVER BOLT ACTIVA GROVE TYPE 25 PCS

JE A203 CLUTCH ROLLER SET (6pc) ACTIVA 10MM 1 SET

JE A251 DRUM NUT OLD ACTIVA - ETERNO M 8 25 PCS

JE A252 DRUM NUT NEW ACTIVA -ACCESS M 10 25 PCS

JE A253 DRUM STUD ACTIVA 25 PCS

JE A351 FLOOR PANEL BOLT ACTIVA 25 PCS

JE A352 F/REST FRAME FIXING BOLT W/NUT ACTIVA 25 PCS

JE A353 FORK LINK BUSH COMP. (2pc) ACTIVA KINETIC 1 ASS.

JE A353A FORK LINK PIN BUSH ONLY (6PC) ACTIVA KINETIC 1 SET

JE A353N FORK LINK BUSH COMP. (2pc) ACTIVA NEW 1 ASS.

JE A354 FOOTREST ACTIVA MAESTRO 1 PC

JE A354A FOOTREST PLATE ACTIVA 1 PC

JE A355 FOOTREST PLEASURE 1 PC

JE A356 FOOTREST JUPITER 1 PC

JE A357 FRONT MUDGUARD BRACKET AVAITOR 1 PC

JE A451 HEAD CYLINDER STUD ACTIVA 10 PCS

JE A452 BOLT HEAD LIGHT ADJUSTING ACTIVA PASSION 25 PCS

JE A452A NUT HEAD LIGHT ADJUSTER ACTIVA PASSION 50 PCS

JE A453 HORN FIXING BOLT ACTIVA 25 PCS

JE A454 HEAD NUT ACTIVA 25 PCS

JE A455 HANDLE CHEK NUT ACTIVA 10 PCS

JE A456 HANDLE NUT BOLT ACTIVA OLD 10 PCS

JE A501 INDICATOR SCREW ACTIVA 6x13 100 PCS

JE A601 KICK RACHET LOCK ACTIVA 25 PCS

JE A701 MAGNET KEY ACTIVA 100 PCS

JE A702 MIRROR SCREW -ACTIVA TAIL SCREW PASSION ETERNO 100 PCS

JE A751 NO.PLATE SCREW KIT  (3pc) ACTIVA FRONT 1 KIT



JE A752 NO.PLATE SCREW ACTIVA REAR 100 PCS

JE A753 NO.PLATE SCREW KIT   ACCESS 1 KIT

JE A754 NO.PLATE SCREW KIT   SUZUKI LETS 1 KIT

JE A801 OIL PUMP FIXING BOLT ACTIVA 25 PCS

JE A851 PLUG SPANNER ACTIVA 1 PC

JE A901 REAR AXLE NUT ACTIVA NEW - ACCESS M 16 10 PCS

JE A999 SIDE GLASS NUT ACTIVA 10 PCS

JE A999A SIDE GLASS NUT ACCESS 10 PCS

JE A1000 SIDE KUNDA 2in1 SHINE DREAM YUYA 1 PCS

JE A1000A SIDE KUNDA 2in1 SHINE-DREAM YUYA P V C 1 PCS

JE A1001 SIDE HANDLE ACTIVA P V C 1 PCS

JE A1002 SILENCER FIXING BOLT SHOCKER BOLT SMALL ACTIVA NEW 10 PCS

JE A1003 SEAT U CLUMP ACTIVA 25 PCS

JE A1004 SHOCKER BOLT FRONT ACTIVA -KINETIC M 8 10 PCS

JE A1005 SHOCKER BOLT REAR ACTIVA UPPER 25 PCS

JE A1006 SHOCKER BOLT REAR ACTIVA LOWER 25 PCS

JE A1008 SEAT CATCHER ACTIVA OLD 1 PCS

JE A1009 SEAT CATCHER ACTIVA NEW 1 PCS

JE A1010 SIDE STAND BOLT KIT ACTIVA 2013 1 KIT

JE A1011 SELF GEAR ACTIVA NEW 1 PC

JE A1012 SELF GEAR ACTIVA OLD 1 PCPC

JE A1013 SILENCER BEND PIPE ACTIVA OLD 1 PC

JE A1051 TIMING SPROCKET BOLT ACTIVA 25 PCS

JE A1301 YOK PATTI ACTIVA 10 PCS

BULLET

JE BE1011 AXLE BATTERY BULLET 1 PCS

JE BE1012 AXLE FRONT BULLET OLD 1 PCS

JE BE1013 AXLE FRONT BULLET ELECTRA 1 PCS

JE BE1014 AXLE FRONT DISC BRAKE BULLET ELECTRA 1 PCS

JE BE1015 AXLE FRONT N/M BULLET CLASSIC 350CC 1 PCS

JE BE1016 AXLE FRONT (6203) BULLET OLD 1 PCS

JE BE1017 AXLE FRONT BUSH BULLET ELECTRA 1 PCS

JE BE1018 AXLE FOUNDATION BULLET NEW 1 PCS

JE BE1019 AXLE FOUNDATION BULLET OLD 1 PCS



JE BE1020 AXLE NUT FOUNDATION BULLET C.P. 10 PCS

JE BE1021 AXLE NUT FOUNDATION BULLET GOLDEN 10 PCS

JE BE1022 AXLE REAR BULLET 1 PCS

JE BE1023 AXLE REAR (6203) BULLET OLD 1 PCS

JE BC1001 BR. CAM W/LEVER SET BULLET REAR 1 SET

JE BC1001F BR. CAM W/LEVER SET BULLET FRONT 1 SET

JE BC1002 BR. CAM W/LEVER SET -UCE BULLET N/M REAR 1 SET

JE BC1002F BR. CAM W/LEVER SET -UCE BULLET N/M FRONT 1 SET

JE BR1001 BRAKE ROD W/PIN BULLET 1 PCS

JE BE1051 BATTERY BHOGLY BULLET 10 PCS

JE BE1052 BRAKE LIGHT SWITCH SPRING BULLET RAJDOOT 10 PCS

JE BE1053 BRAKE PEDAL SPRING BULLET 10 PCS

JE BE1054 BRAKE ROD BULLET ELECTRA 1 PCS

JE BE1055 BRAKE ROD BULLET CLASSIC 1 PCS

JE BE1056 BREAK SHOE PIN BULLET FRONT 10 PCS

JE BE1057 BREAK SHOE PIN BULLET REAR 10 PCS

JE BE1058 BREAK SHOE PIN BULLET REAR (CLASSIC 10 PCS

JE BE1059 BRAKE SHOE SPRING BULLET NEW 50 PCS

JE BE1060 BRAKE SHOE NUT SMALL BULLET REAR 10 PCS

JE BE1061 BREAK SWITCH PATTI BULLET 1 PCS

JE BE1101 CENTER STAND SPRING BULLET (350 CC) 10 PCS

JE BE1102 CENTER STAND SPRING BULLET ELECTRA 10 PCS

JE BE1103 CENTER STAND SPRING BULLET SPECIAL 10 PCS

JE BE1104 CLUTCH BELL LOCK BULLET 10 PCS

JE BE1105 CLUTCH HOUSING SPRING BULLET (SET OF 6) 1 SET

JE BE1251 FOOTREST ROD BULLET ROYAL ENFIEL 1 PCS

JE BE1252 FOOTREST ROD BULLET ELECTRA NEW 1 PCS

JE BE1253 FOOTREST ROD BULLET DIESEL 1 PCS

JE BE1254 FOOTREST ROD NUT ONLY BULLET 10 PCS

JE BE1255 FORK CONE SET BULLET NEW 1 SET

JE BE1256 FRONT FORK PUMP SPRING BULLET 1 PCS

JE BE1257 FRONT FORK SPRING SET BULLET 1 SET



JE BE1258 FR. WHEEL BEARING SPACER BULLET INNER 1 PCS

JE BE1259 FRONT SPROCKET PATTI BULLET 25 PCS

JE BE1301 GEAR BOX SPROCKET BULLET - 16T 1 PCS

JE BE1302 GEAR CHANGER SPRING BULLET BIG+SMALL 1 PCS

JE BE1351 HANDLE WEIGHT BULLET C.P. 1 PCS

JE BE1352 HANDLE WEIGHT BULLET BLACK 1 PCS

JE BE1353 HALF AXLE BULLET NEW 1 PCS

JE BE1354 HALF AXLE BUSH BULLET REAR 1 PCS

JE BE1355 HEAD LIGHT LOCK BULLET 50 PCS

JE BE1356 HEAD STUD - STD BULLET LONG - BK 10 PCS

JE BE1357 HEAD STUD - STD BULLET SMALL 10 PCS

JE BE1358 HEAD STUD - STD BULLET ELECTRA 10 PCS

JE BE1359 HEAD VALUE SPRING BULLET (SET OF 4) 1 SET

JE BE1501 KICK LEVER BULLET OLD 1 PCS

JE BE1502 KICK LEVER BULLET NEW 1 PCS

JE BE1503 KICK SPRING BULLET 1 PCS

JE BE1651 NO. 15 STAY STUD UPPER MUD. STUD -BUL3/8" 10 PCS

JE BE1652 NO. 21 STAY STUD LOWER MUD. STUD -BU1/2" -BIG 10 PCS

JE BE1653 NO. 21 STAY STUD LOWER MUD. STUD -BU1/2" -OLD 10 PCS

JE BE1654 NO. 21 STAY STUD LOWER MUD. STUD -BU1/2" -CLASSIC- 10 PCS

JE BE1655 NUT BOLT MUDGUARD BULLET SPL. 10 PCS

JE BE1656 NUT BOTTOM -9/16/26 BULLET GOLDEN 10 PCS

JE BE1657 NUT BRAKE ROD BULLET 10 PCS

JE BE1658 NUT CLUTCH COVER BULLET C.P. 10 PCS

JE BE1659 NUT CLUTCH OIL BULLET C.P. 10 PCS

JE BE1660 NUT CLUTCH OIL BULLET NEW 10 PCS

JE BE1661 NUT CRANK BULLET GOLDEN 1 PCS

JE BE1662 NUT HANDLE TOP BULLET C.P. 1 PCS

JE BE1663 NUT MAIN SHAFT NYLOCK -9/16 BULLET ZINC 10 PCS

JE BE1664 NUT MAIN TUBE BULLET 18 mm 1 PCS

JE BE1665 NUT MAIN TUBE BULLET NEW 1 PCS

JE BE1666 NUT REAR AXLE BULLET GOLDEN -16mm 10 PCS



JE BE1667 NUT REVERSE 5/8 BULLET BA. BLK 10 PCS

JE BE1668 NUT ROTTER BULLET GOLDEN 10 PCS

JE BE1669 NUT SHOCKER BULLET 3/8x20 - C.P. 10 PCS

JE BE1670 NUT STAY STUD ONLY BULLET NO.21 10 PCS

JE BE1671 NUT STAY STUD ONLY BULLET NO.15 10 PCS

JE BE1672 NUT TOP GEAR BULLET NEW 10 PCS

JE BE1673 NUT TOP GEAR BULLET OLD 10 PCS

JE BE1751 PIN GEAR OPERATOR BULLET 10 PCS

JE BE1752 PIN CENTER STAND BULLET 1 PCS

JE BE1753 PIN CENTER STAND BULLET OLD 1 PCS

JE BE1851 RR. WHEEL BEARING SPACER -INNER BULLET COLLER 1 PCS

JE BE1852 RR. WHEEL SPACER GUTKA -OUTER BULLET SMALL HOLE 1 PCS

JE BE1853 REAR WHEEL CONE BULLET 1 PCS

JE BE1901 SIDE STAND  BULLET ELECTRA 1 PCS

JE BE1902 SIDE STAND SPRING BULLET R/O  (O/M) 10 PCS

JE BE1903 STUD BREAK PEDAL BULLET NEW 10 PCS

JE BE1904 STUD BREAK PEDAL BULLET OLD 10 PCS

JE BE1905 STUD CARBORATOR W/NUT -STD BULLET OLD 10 PCS

JE BE1906 STUD CARBORATOR W/NUT -STD BULLET NEW 10 PCS

JE BE1907 STUD CHAIN CASE ATTACHMENT W/N BULLET 10 PCS

JE BE1908 STUD CHAIN PAD BULLET 10 PCS

JE BE1909 STUD CRANK CASE KIT (14pc) BULLET 1 KIT

JE BE1910 STUD CRANK CASE W/2NUT WASHER BULLET 8 x 95 10 PCS

JE BE1911 STUD CRANK CASE W/2NUT WASHER BULLET 1/4 x 2-7/8 10 PCS

JE BE1912 STUD CRANK CASE W/2NUT WASHER BULLET 1/4 x 6-1/4 10 PCS

JE BE1913 STUD CRANK CASE W/2NUT WASHER BULLET 1/4 x 6-13/16 10 PCS

JE BE1914 STUD CRANK CASE W/2NUT WASHER BULLET 8 x 88 10 PCS

JE BE1915 STUD CLUTCH COVER BULLET BIG 10 PCS

JE BE1916 STUD CLUTCH COVER BULLET SMALL 10 PCS

JE BE1917 STUD DOUBLE NUT W/WASHER BULLET 5/16 x 5" 10 PCS

JE BE1918 STUD DOUBLE NUT W/WASHER BULLET 8 x 134 mm 10 PCS

JE BE1919 STUD DOUBLE NUT W/WASHER BULLET 8 x 146 mm 10 PCS

JE BE1920 STUD FOOTREST BULLET BIG 10 PCS



JE BE1921 STUD FOOTREST BULLET SMALL 10 PCS

JE BE1922 STUD FORK LEG W/NUT BULLET STD 10 PCS

JE BE1923 STUD FORK LEG W/NUT BULLET 1st O/S 10 PCS

JE BE1924 STUD FORK LEG W/NUT BULLET 2nd O/S 10 PCS

JE BE1925 STUD FRONT ENGINE PLATE W/2NUT BULLET 8 x 114 10 PCS

JE BE1926 STUD FRONT MUDGUARD STAY W/NUTBULLET C.P 10 PCS

JE BE1927 STUD GEAR BOX W/2NUT BULLET BIG 10 PCS

JE BE1928 STUD GEAR BOX W/2NUT BULLET SMALL 10 PCS

JE BE1929 STUD HANDLE W/NUT BULLET 10 PCS

JE BE1930 STUD HORN BULLET NEW 10 PCS

JE BE1931 STUD HORN BULLET OLD 10 PCS

JE BE1932 STUD PETROL TANKI W/2NUT BULLET BIG 10 PCS

JE BE1933 STUD PETROL TANKI W/2NUT BULLET SMALL 10 PCS

JE BE1934 STUD REAR ENGINE PLATE W/2NUT WBULLET 8 x 127 10 PCS

JE BE1935 STUD REAR MUD. STAY W/2NUT WASHBULLET STD 10 PCS

JE BE1936 STUD ROCKER BOX - DLX BULLET STD 10 PCS

JE BE1937 STUD ROCKER BOX - DLX BULLET 1st O/S 10 PCS

JE BE1938 STUD ROCKER BOX - DLX BULLET 2nd O/S 10 PCS

JE BE1939 STUD ROKER BOX - SMALL BULLET STD 10 PCS

JE BE1940 STUD ROKER BOX - SMALL BULLET 1st O/S 10 PCS

JE BE1941 STUD ROKER BOX - SMALL BULLET 2nd O/S 10 PCS

JE BE1942 STUD ROCKER BEARING W/NUT BULLET STD 10 PCS

JE BE1943 STUD ROCKER BEARING W/NUT BULLET 1st O/S 10 PCS

JE BE1944 STUD ROCKER BEARING W/NUT BULLET 2nd O/S 10 PCS

JE BE1945 STUD SEAT BULLET NEW 10 PCS

JE BE1946 STUD SEAT BULLET OLD 10 PCS

JE BE1947 STUD SILENCER W/2NUT WASHER BULLET NEW 10 PCS

JE BE1948 STUD SILENCER W/2NUT WASHER BULLET OLD 10 PCS

JE BE1949 STUD STATER W/NUT BULLET STD 10 PCS

JE MI1001 SCREW BACK LIGHT -BULLET SCREW SHEILD -PEP M5 x 38 100 PCS

JE BE2101 WASHER FRONT AXLE BULLET 100 PCS

JE BE2102 WASHER REAR AXLE BULLET 100 PCS

JE BE2103 WHEEL CONE WASHER BULLET 10 PCS



BAJAJ SCOOTER

JE BS101 ACCELATOR  PIPE CHETAK 1 PC

JE BS101A ACCELATOR  PIPE LML 1 PC 

JE BS151 BEEDING SCREW CHETAK 100 PCS

JE BS152 BRAKE ADJUSTER BAJAJ NO.11 25 PCS

JE BS153 BRAKE CATCHER FRONT -SPL. BAJAJ NO.11 12 PCS

JE BS154 BRAKE CATCHER REAR BAJAJ NO.14 12 PCS

JE BS155 BRAKE CATCHER FOOT BAJAJ NO.14 10 PCS

JE BS156 BRAKE SHOE HELPER BAJAJ 200 PCS

JE BS157 BRAKE SHOE HELPER  SPL BAJAJ CHETAK 100 PCS

JE BS158 BRAKE SHOE SPRING CHETAK 25 PCS

JE BS159 BRAKE SWITCH SCREW CHETAK 8x13 100 PCS

JE BS201 CARBURATOR COVER SCREW BAJAJ 50 PCS

JE BS202 CARBURATOR FILTER SCREW BAJAJ 50 PCS

JE BS202A CARBURATOR FIXING NUT BAJAJ 50 PCS

JE BS203 C/STAND PATTI SET BAJAJ 10 SET

JE BS203A C/STAND PATTI LML BIG 10 PCS

JE BS204 C/STAND BOOT PATTI BAJAJ 25 PCS

JE BS206 C/STAND U CLUMP BAJAJ 10 PCS

JE BS207 CLUTCH BELL BAJAJ 1 PCS

JE BS208 CLUTCH COVER BOLT BAJAJ 10x25 100 PCS

JE BS209 CLUTCH KEY BAJAJ 100 PCS

JE BS210 NUT CLUTCH BAJAJ ROUND 25 PCS

JE BS211 SCREW COIL BAJAJ SMALL 25 PCS

JE BS212 SCREW COIL BAJAJ BIG 25 PCS

JE BS213 PATTI COIL CHETAK OLD 1 PCS

JE BS214 PATTI COIL BAJAJ-FE 1 PCS

JE BS215 PATTI COIL CHETAK NEW 99 10 PCS

JE BS216 PATTI COIL LML 1 PCS

JE BS218 SPRING CLUTCH BAJAJ 100 PCS

JE BS251 NUT BOLT DICKY BAJAJ NO.7 100 PCS

JE BS252 NUT BOLT DICKY BAJAJ NO.8 100 PCS

JE BS253 DICKY SPLIT PIN BAJAJ 3" 100 PCS

JE BS254 DICKY LOCK PATTI CHETAK 50 PCS



JE BS255 DICKY WELDING PATTI BAJAJ 20 PCS

JE BS351 BOLT FAN CHETAK NO.10 100 PCS

JE BS352 BOLT FAN CHETAK NO.11 100 PCS

JE BS353 SCREW FAN COVER BAJAJ SMALL 100 PCS

JE BS354 SCREW FAN COVER BAJAJ BIG 100 PCS

JE BS399 GEAR MUTHA PIPE CHETAK ORD 1 PC

JE BS400 GEAR MUTHA PIPE SPL CHETAK 1 PC

JE BS401 GEAR MUTHA D LOCK BAJAJ 50 PCS

JE BS402 GEAR DUBBY COVER CHETAK 1 PCS

JE BS402A GEAR DUBBY COVER CHETAK BLACK 1 PCS

JE BS403 GEAR DUBBY COVER LML 1 PCS

JE BS452 SCREW HANDLE BAR T-5 100 PCS

JE BS453 HANDLE BOLT CHETAK 10 PCS

JE BS454 HANDLE BEARING SET CHETAK 1 SET

JE BS455 H.L.RIM SCREW BAJAJ 200 PCS

JE BS456 H.L.RIM WASHER BAJAJ 200 PCS

JE BS551 JUNCTION BOX SCREW BAJAJ 100 PCS

JE BS601 KICK BOLT W/NUT BAJAJ OLD 25 PCS

JE BS602 KICK BOLT W/NUT BAJAJ NEW 25 PCS

JE BS603 KIT DICKY & MUDGUARD CHETAK 1 KIT 

JE BS604 KIT NUT BOLT HALF CHETAK 1 KIT 

JE BS605 KIT NUT BOLT FULL CHETAK SPL. 1 KIT 

JE BS606 KIT CENTRE STAND CLUMP CHETAK 1 KIT 

JE BS606A KIT CENTRE STAND CLUMP LML 1 KIT 

JE BS607 KIT HANDLE PAN BAJAJ 1 KIT 

JE BS608 KOTHI TUNION BAJAJ -CHETAK OLD 1 PCS

JE BS609 KOTHI TUNION ASS. BAJAJ -CHETAK OLD 1 ASS.

JE BS610 KOTHI TUNION CHETAK NEW FE 1 PCS

JE BS611 KOTHI TUNION ASS. CHETAK NEW FE 1 ASS.

JE BS612 KOTHI AXLE BAJAJ REAR ENG. 20 PCS

JE BS613 BOLT KIT ENGINE BAJAJ M 7 1 KIT 

JE BS614 NUT KIT ENGINE (36pc) BAJAJ M 7 1 KIT 

JE BS701 MAGNET KEY BAJAJ 100 PCS

JE BS702 MAIN SHAFT WASHER BAJAJ 25 PCS

JE BS703 MUDGUARD NUT BOLT CHETAK 8x16 100 PCS



JE BS751 NUMBER PLATE SCREW BAJAJ 8x19 100 PCS

JE BS801 OUTER CABLE HOOK BAJAJ 50 PCS

JE BS851 P.T. STUD BAJAJ DOOR STUD- R 100 PCS

JE BS852 P.T. STUD BAJAJ SPL. 50 PCS

JE BS853 P.T. STUD NUT KIT BAJAJ SB 1 KIT 

JE BS854 PIVOT PIN PATTI BAJAJ 50 PCS

JE BS855 PLUG SPANNER CP BAJAJ SMALL 1 PCS

JE BS856 PLUG SPANNER CP BAJAJ- CHETAK LONG 1 PCS

JE BS857 PLUG SPANNER CP LML 1 PCS

JE BS858 PLUG SPANNER LI 10 PCS

JE BS951 REAR SEAT CLUMP CHETAK 25 PCS

JE BS952 REAR AXLE NUT LML 10 PCS

JE BS1001 SEAT BRACKET CHETAK 1 PCS

JE BS1002 SEAT BRACKET PIN CHETAK 10 PCS

JE BS1004 SEAT BOLT MAIN SPL CHETAK NO.17 12 PC

JE BS1005 SEAT FIXING BOLT FRONT- CH. KICK RATCHET BOLT -R11x19 100 PCS

JE BS1006 SEAT FIXING BOLT REAR STD CHETAK 11x40 50 PCS

JE BS1007 SEAT FIXING BOLT REAR CHETAK OVER 50 PCS

JE BS1008 SEAT FIXING BUSH REAR CHETAK 25 PCS

JE BS1009 SEAT FIXING PATTI FRONT CHETAK 10 PCS

JE BS1010 SIDE MIRROR CLUMP CHETAK SMALL 10 SET

JE BS1010A SIDE MIRROR CLUMP -BLACK CHETAK SMALL 10 SET

JE BS1011 SHOCKER HEIGHT BOLT BAJAJ NO.14 25 PCS

JE BS1012 SHOCKER BOLT REAR BAJAJ 10 PCS

JE BS1013 SHOCKER BUSH FRONT BAJAJ SMALL 50 PCS

JE BS1014 SHOCKER BUSH FRONT BAJAJ BIG 25 PCS

JE BS1015 SHOCKER PATTI W/BOLT BAJAJ 25 PCS

JE BS1016 SHOCKER PATTI   BAJAJ 25 PCS

JE BS1017 SHOCKER U CLUMP BAJAJ 10 PCS

JE BS1018 SILENCER BOLT CHETAK STD 25 PCS

JE BS1019 SILENCER BOLT CHETAK OVER 25 PCS

JE BS1020 S.M. SCREW CHETAK 50 PCS

JE BS1021 STAND NUT BOLT BAJAJ 10x25 100 PCS

JE BS1022 SEAT LEATHER HOOK BAJAJ 100 PCS



BAJAJ MOTORCYCLE

JE BM151 BRAKE ADJUSTER PULSAR 25 PCS

JE BM152 NUT BOLT BATTERY M/CYCLE NO.10 100 PCS

JE BM351 FR.WHEEL SPACER GUTKA PULSAR 1 PC

JE BM352 FR.WHEEL SPACER BUSH PULSAR COLLER 1 PC

JE BM451 HANDLE MUTHA WEIGHT PULSAR 1 PC

JE BM452 NUT HANDLE TOP PULSAR 135 - XCD DISCOVER 1 PC

JE BM701 NUT MAGNET PULSAR 1 PC

JE BM702 MAGNET KEY PULSAR -CT100 DISCOVER 100 PCS

JE BM951 ROCKER PIN SET (2pc) PULSAR 1 SET

JE BM952 RR.WHEEL SPACER GUTKA PULSAR SMALL HOLE 1 PC

JE BM953 RR.WHEEL SPACER GUTKA PULSAR BIG HOLE 1 PC

JE BM954 BUSH REAR W. SPACER PULSAR 1 PC

JE BM955 NUT REAR-FOND. AXLE PULSAR- DISCOVER 14.50 MM 10 PCS

JE BM1031 SIDE STAND BRACKET PULSAR 1 PCS

JE BM1031A SIDE STAND BRACKET PULSAR 135 1 PCS

JE BM1151 VALUE GUIDES SET (2pc) PULSAR 1 SET

JE BM1301 YOK ADJUSTER PULSAR 10 PCS

JE BM453 NUT HANDLE TOP CT100-PLATINA-CALIBER 1 PCS

JE BM1001 SIDE KUNDA 2in1 CT 100 PLATINA 1 PCS

JE BM1002 SIDE KUNDA 2in1 CT 100 -PLATINA P V C 1 PCS

JE BM361 NUT FRONT AXLE KB 4S 10 PCS

JE BM362 FRONT W.SPACER GUTKA KB 4S 1 PC 

JE BM363 BUSH FRONT W.SPACER KB 4S COLLER 1 PC

JE BM461 STUD HEAD CYLINDER KB 4S BOXER 10 PCS

JE BM751 MAGNET KEY KB 4S 100 PCS

JE BM752 NUT MAIN TUBE KB 4S 1 PCS

JE BM753 NUT MAIN TUBE INNER KB 4S 1 PC

JE BM961 NUT REAR AXLE -4S NUT FR. AXLE -PULSAR 25 PCS

JE BM962 RR.WHEEL SPACER GUTKA KB 4S SMALL HOLE 1 PC

JE BM963 RR.WHEEL SPACER GUTKA KB 4S BIG HOLE 1 PC



JE BM964 BUSH REAR W. SPACER KB 4S 1 PC

JE BM965 ROCKER PIN SET (2pc) KB 4S 1 SET

JE BM1011 NUT SHOCKER CP KB 4S NO.17 10 PCS

JE BM1012 NUT SHOCKER TUBE KB 4S -SUZUKI 10 PCS

JE BM1013 SCREW SIDE PANNEL KB4S - CALIBER 25 PCS

JE BM1014 NUT SPEEDO METER KB 4S 10 PCS

JE BM1311 YOK ADJUSTER RX100 KB4S 10 PCS

JE BM371 BOLT SET FORK LINK (4PC) M 80 1 SET

JE BM372 BOLT FROK LINK M 80 SMALL

JE BM373 NUT FORK LINK M 80

JE BM491 GRESSE NIPPLE M 80

JE BM871 PETROL TANKI CAP M 80 1 PC 

JE BM1021 SILENCER MOUTH M 80 1 PC 

JE BM1022 BUSH SHOCKER M 80 SMALL 25 PCS

JE BM1023 BUSH SHOCKER M 80 BIG 25 PCS

HERO HONDA

JE HH101 SCREW ACC. MOUNTING BIG H.HONDA M5 x 22 25 PCS

JE HH102 SCREW ACC. MOUNTING SMALL -HH SCREW INDICATOR -HHAIR FILTER SC 25 PCS

JE HH103 SCREW AIR CLEANER -H.H H.L.SCR -SUZ PS0515 50 PCS

JE HH151 SCREW BACK LIGHT H.HONDA 50 PCS

JE HH201 BOLT CAM SPROCKET H.HONDA 5 MM 25 PCS

JE HH202 BOLT C.T. PUSH ROD H.HONDA STD 10 PCS

JE HH203 BOLT C.T. PUSH ROD H.HONDA OVER 10 PCS

JE HH204 WASHER  C.T. PUSH ROD H.HONDA 100 PCS

JE HH205 CHAIN TENSIONER ARM PATTI H.HONDA 1 PCS

JE HH206 SCREW COIL PLATE -H.HONDA SCREW ROTOR COVER NO. 8 SMALL 25 PCS

JE HH206A SCREW COIL PLATE -S.METER-HONDASCREW FRONT NO. PLATNO. 8 BIG 50 PCS

JE HH207 SCREW COIL PLATE H.HONDA NO. 10 BIG 50 PCS

JE HH208 BOLT CYLINDER HEAD JOINT H.HONDA 25 PCS

JE HH209 BUSH CYLINDER JOINT H.HONDA COLLER 25 PCS

JE HH210 BUSH CYLINDER JOINT H.HONDA PLAIN 25 PCS

JE HH211 BUSH CRANK CASE H.HONDA SMALL 25 PCS



JE HH212 BUSH CRANK CASE H.HONDA BIG 25 PCS

JE HH213 SCREW COIL NO.7 H.H P.T.NOB SCREW -TVS 7x25 25 PCS

JE HH214 CLUTCH KEY H.HONDA 100 PCS

JE HH351 NUT FRONT AXLE H.HONDA 10 PCS

JE HH352 BOLT G.B. SPOCKET H.HONDA 6MM 25 PCS

JE HH353 BOLT FRONT FORK TOP SUPER SPL. NO. 13 10 PCS

JE HH354 BOLT FRONT FORK TOP CP H.HONDA 10 PC 

JE HH355 FRONT WHEEL SPACER GUTKA H.HONDA 1 PC

JE HH356 BUSH FRONT W.SPACER H.HONDA COLLER 1 PC

JE HH357 NUT FORK MAIN TUBE H.HONDA 1 PC

JE HH358 NUT BOLT FOND. PLAIN H.HONDA - M80 BIG NO.13 10 PCS

JE HH359 NUT BOLT FOND (Spring) H.HONDA SMALL NO.13 10 PCS

JE HH360 NUT FOND. AXLE -H.HONDA NUT RR. AXLE -M80 10 MM 25 PCS

JE HH361 FOOTREST LADY H.HONDA S S 1 PCS

JE HH362 FOOTREST LADY SPLENDER 1 PCS

JE HH450 NUT HANDLE TOP -HONDA SPL. -PASSION CT 100-PLATIN 1 PCS

JE HH451 BOLT HANDLE FIXING H.HONDA 1 PCS

JE HH452 NUT HANDLE TOP -CBZEXTREME-UNI SUPER. SPL-GLAMOUR-SHINE-TWISTE 1 PCS

JE HH453 SCREW HEAD LIGHT RIM H.HONDA 25 PCS

JE HH454 NUT HEAD H.HONDA SMALL SPLENDER 10 PCS

JE HH455 NUT HEAD H.HONDA BIG 10 PCS

JE HH455A NUT HEAD GLAMOUR - CBZ VICTOR 10 PCS

JE HH456 H.C.STUD SET (4pc) H.HONDA STD 1 SET

JE HH457 H.C.STUD SET (4pc) H.HONDA OVER 1 SET

JE HH458 SCREW HANDLE LOCK H.HONDA NO. 10 100 PCS

JE HH459 NUT HANDLE CHECK H.HONDA SPLENDER 1 PCS

JE HH460 HANDLE TOP WASHER H.HONDA 25 PCS

JE HH501 INDIGATOR SCREW H.HONDA 5 MM 100 PCS

JE HH502 PATTI INDICATOR VISOR SPLENDER 25 PCS

JE HH601 BOLT KICK LEVER H.HONDA 25 PCS

JE HH701 MAGNET KEY- HONDA SPLENDER CBZ-KINETIC 100 PCS

JE HH702 NUT MAGNET -HONDA- KB4S NUT CLUTCH SMALL- ACCL. NUT SMALL- 10 PCS



JE HH703 SCREW METER CABLE H.HONDA CSK 512 100 PCS

JE HH751 NO. 10 ALUMINIUM WASHER-HH OIL PUMP SHAFT WASHM 6 100 PCS

JE HH752 NEUTRAL SWITCH PATTI H.HONDA 25 PCS

JE HH851 PLUG SPANNER CP H.HONDA 1 PC

JE HH951 REAR WHEEL SPACER BUSH H.HONDA COLLER 1 PC

JE HH952 REAR W.SPACER GUTKA H.HONDA SMALL HOLE 1 PC

JE HH953 REAR W.SPACER GUTKA H.HONDA BIG HOLE 1 PC

JE HH954 NUT REAR AXLE H.HONDA 10 PCS

JE HH955 NUT REAR AXLE -GLAMOUR-SHINE SUPER SPL + -CD DLX VICTOR-PASSI 10 PCS

JE HH1000 NUT SHOCKER - CD DELUXE NUT HEAD -PULSAR-DISCOVER 10 PCS

JE HH1001 NUT SHOCKER CP H.HONDA NO.14 10 PCS

JE HH1002 BUSH SHOCKER REAR H.HONDA SMALL 10 PCS

JE HH1003 BUSH SHOCKER REAR H.HONDA BIG 10 PCS

JE HH1004 BOLT SIDE PANNEL H.HONDA 25 PCS

JE HH1005 SCREW SIDE PANNEL -CBZ VISOR SCREW-SUPER SV.SCREW-GLA 10 PCS

JE HH1006 SCREW SIDE PANNEL  PASSION 25 PCS

JE HH1007 SCREW STATOR PLATE H.HONDA 100 PCS

JE HH1008 SCREW SILENCER BEND H.HONDA 5 x 8 100 PCS

JE HH1008A SCREW SILENCER COVER SUPER SPL. -CD DLX 6 x 8 50 PCS

JE HH1009 SCREW STEERING LOCK FIXING H.HONDA 100 PCS

JE HH1012 STUD W/NUT SILENCER H.HONDA- ACTIVA KINETIC 25 PCS

JE HH1013 SIDE KUNDA 2in1 H.HONDA SPLENDER 1 PCS

JE HH1014 SIDE KUNDA 2in1 PASSION + PASSION PRO 1 PCS

JE HH1015 SIDE KUNDA 2in1 -CBZ EXTREME GLAMOUR NEW SUPER SPL.- N 1 PCS

JE HH1015A SIDE KUNDA 2in1 GLAMOUR OLD STAR SPORTS 1 PCS

JE HH1016 SIDE KUNDA 2in1 HERO -SPLENDER P V C 1 PCS

JE HH1017 SIDE KUNDA 2in1 PASSION PRO + P V C 1 PCS

JE HH1018 SIDE KUNDA 2in1 -SPL.NXG GLAMOUR -CBZ-SUPER P V C 1 PCS

JE HH1019A SIDE HANDLE  H.HONDA P V C 1 PCS

JE HH1019 SIDE HANDLE PASSION P V C 1 PCS

JE HH1020 SIDE STAND BRACKET SPLENDER-CD DAWN CBZ -ACHIEVER 1 PCS

JE HH1021 SHIM KIT FULL H.HONDA 1 KIT

JE HH1022 NUT SILENCER CP H.HONDA GLAMOUR 10 PCS

JE HH1023 SIDE GLASS NUT H.HONDA 10 PCS



JE HH1024 WASHER SHOCKER TOP H.HONDA NO. 17 50 PCS

JE HH1025 WASHER SHOCKER TOP SUPER SPLENDER CD DELUXE 100 PCS

JE HH1026 SILENCER END CAP SUPER SPL. GLAMOUR 1 PC

JE HH1027 SHIM KIT ALUMIUM H.HONDA 1 KIT

JE HH1051 NUT TAPET W/RING H.HONDA 1 PCS

JE HH1052 TAPET ADJUSTER SET (2pc) H.HONDA 5MM 1 SET

JE HH1053 BOLT TIMING ROLLER H.HONDA 25 PCS

JE HH1054 WASHER TIMING ROLLER H.HONDA 100 PCS

JE HH1055 TOOL BOX KIT H.HONDA 1 KIT

JE HH1056 TOOL BOX PATTI H.HONDA 50 PCS

JE HH1057 SCREW TAIL SPLENDER 100 PCS

JE HH1057A SCREW TAIL -CD DLX HANDLE BAR SCREW - ETERNO 100 PCS

JE HH1058 TUNA ROD H.HONDA 1 PCS

JE HH1151   "V"   BRACKET SPLENDER 1 SET

JE HH1151A   "V"   BRACKET SPLENDER LEFT 1 PCS

JE HH1151B   "V"   BRACKET SPLENDER RIGHT 1 PCS

KINETIC 

JE K151 BATTERY NUT BOLT KINETIC NO.8 100 PCS

JE K152 BATTERY LOCK BOLT KINETIC NO.10 25 PCS

JE K201 CLUTCH ROLLER SET KINETIC 1 SET

JE K351 FOOT PANNEL BOLT KINETIC 25 PCS

JE K401 GREEN BUSH SET (2pc) KINETIC ACTIVA 1 SET

JE K401A GREEN BUSH SET (2pc) SPL KINETIC ACTIVA 1 SET

JE K701 MAGNET NUT KINETIC 25 PCS

JE K851 PIVOT PIN ARM BOLT KINETIC 25 PCS

JE K1001 SEAT U CLUMP KINETIC 25 PCS

RX 100

JE RX151 BACK LIGHT SCREW RX 100 50 PCS

JE RX201 CLUTCH ADJUSTER RX 100 25 PCS



JE RX202 CLUTCH ROD RX 100 1 PC 

JE RX203 CYLINDER HEAD STUD RX 100 STD 25 PCS

JE RX204 CYLINDER HEAD STUD RX 100 OVER 25 PCS

JE RX351 FRONT AXLE NUT ONLY RX 100 25 PCS

JE RX352 FOUNDATION AXLE NUT ONLY RX 100 12MM 25 PCS

JE RX353 FOOTREST YAHAMA RAY 1 PCS

JE RX451 HEAD NUT RX 100 25 PCS

JE RX701 MAGNET NUT RX 100 25 PCS

JE RX951 REAR AXLE NUT ONLY RX 100 25 PCS

JE RX1001 SIDE PANNEL SCREW RX 100 25 PCS

JE RX1002 SHOCKER NUT CP RX100 - SUZUKI NO.17 10 PCS

JE RX1051 TOP GEAR NUT RX 100 10 PCS

TVS MOPED & MOTOR CYCLE

JE T151 BRAKE MAKHI TVS 5 MM 100 PCS

JE T152 BRAKE ADJUSTER TVS NO.10 25 PCS

JE T201 CLUTCH L PATTI BOLT ONLY TVS 5 MM 100 PCS

JE T202 CUT NIPPLE TVS MOPED 50 PCS

JE T203 CLUTCH - MAGNET NUT TVS N0. 17 50 PCS

JE T451 HEAD NUT TVS NO.10 100 PCS

JE T452 HORN SCREW TVS 7x12 100 PCS

JE T701 MIRROR CLUMP C.P. MOPED 25 PCS

JE T851 PEDAL W/CRANK ASS. TVS 1 PC 

JE T852 PULLY NUT TVS 25 PCS

JE T853 PLUG SPANNER TVS 1 PC

JE T854 PEDAL CRANK SET TVS 1 SET

JE T855 PETROL TANKI NUT TVS NO. 10 25 PCS

JE T951 REAR AXLE NUT TVS 25 PCS

JE T1001 SHOCKER NUT TVS NO.14 10 PCS

JE RE307 NO.17 BOLT ENGINE BEEDING W/NY N SHOCKER NUT BOLT- T 10x45 10 PCS

JE T1002 BOLT SILENCER TVS 10x25 10 PCS

JE T311 BOLT ENGINE MOUNTING VICTOR 10 PCS

JE T360 CYLINDER STUD W/NUT VICTOR STD 5 PCS

JE T361 FR WHEEL SPACER GUTKA VICTOR 1 PC



JE T362 FR WHEEL SPACER BUSH VICTOR 1 PC

JE T461 HANDLE TOP NUT- APACHE VICTOR-CENTRA-FLAMESTAR CITY 1 PC

JE T711 MAGNET NUT VICTOR 25 PCS

JE T712 MAGNET KEY VICTOR -SUZUKI FIERO 100 PCS

JE T713 MAIN TUBE NUT VICTOR STAR CITY 1 PC

JE T962 RR WHEEL SPACER GUTKA VICTOR SMALL HOLE 1 PC

JE T963 RR WHEEL SPACER GUTKA VICTOR BIG HOLE 1 PC

JE T964 RR WHEEL SPACER BUSH VICTOR STAR CITY 1 PC

JE T965 REAR AXLE NUT VICTOR UNICORN 25 PCS

JE T1011 NUT SPEEDO METER VICTOR 20 PCS

JE T1161 VALUE GUIDE SET (2pc) VICTOR 1 SET

A P E

JE APE100 ACCELATOR PATTI A P E 1 PC

JE APE151 BRAKE PEDAL PIN A P E 8 MM 25 PCS

JE APE152 BASH PUMP L-KEY BOLT A P E 8x35 25 PCS

JE APE201 COUPLING NUT BOLT KIT (6pc) A P E 10x65 1 KIT

JE APE202 CLUTCH HOUSING STUD A P E STD 25 PCS

JE APE203 CLUTCH HOUSING STUD A P E OVER 25 PCS

JE APE204 CLUTCH PIN A P E 25 PCS

JE APE204A CLUTCH PIN LOCK A P E 100 PCS

JE APE205 CLUTCH BOLT A P E 13x30 25 PCS

JE APE206 CLUTCH LEVER NUT BOLT A P E 25 PCS

JE APE207 CHAMBER STUD W/NUT A P E 10 PCS

JE APE208 CLUTCH STEEL SHIM A P E THIN 25 PCS

JE APE209 CLUTCH STEEL SHIM A P E THICK 25 PCS

JE APE209A CLUTCH STEEL SHIM A P E EXTRA THICK 25 PCS

JE APE210 CLUTCH STEEL SHIM GRINDED A P E PC

JE APE211 CLUTCH LEVER A P E SMALL 1 PC

JE APE212 CLUTCH LEVER A P E MEDIUM 1 PC

JE APE213 CLUTCH LEVER A P E BIG 1 PC

JE FB01012 ENGINE COVER BOLT -APE OIL FILTER CUP BOLT M6x12 FLANGE 100 PCS



JE APE351 FOND. NUT BOLT NO.13 A P E 13x125 10 PCS

JE APE352 FOND. NUT BOLT NO.17 A P E 17x100 10 PCS

JE APE353 FOND. NUT BOLT NO.17 A P E 17x125 10 PCS

JE APE354 FIELD PUMP ROD A P E 25 PCS

JE APE355 FIRST GEAR SHIM A P E STD 1 PC 

JE APE356 FIRST GEAR SHIM A P E I O/S 1 PC

JE APE357 FIRST GEAR SHIM A P E II O/S 1 PC

JE APE358 FORK BALLS KIT A P E 1 KIT

JE APE359 FORK CONE SET W/BALLS A P E 1 SET

JE APE360 FORK UPPER SET A P E 1 SET

JE APE361 NUT FRONT AXLE A P E 10 PCS

JE APE401 GEAR GUCHHA SHIM A P E THIN 25 PCS

JE APE402 GEAR GUCHHA SHIM A P E THICK 25 PCS

JE APE403 GEAR CHANGER T A P E 25 PCS

JE APE404 GEAR SELECTOR ROD A P E 1 PC

JE APE405 GEAR SHAFT BUSH A P E 1 PC

JE APE406 GEAR ADJUSTER A P E NO.10 25 PCS

JE APE407 GEAR ADJUSTER A P E NO.13 25 PCS

JE APE451 HANDLE NUT BOLT A P E 10x70 10 PCS

JE APE452 HEAD VALVE SHIM A P E THIN 50 PCS

JE APE453 HEAD VALVE SHIM A P E THICK 50 PCS

JE APE454 HEAD NUT A P E 10 PCS

JE APE455 HUB STUD A P E M 12 10 PCS

JE APE456 HUB STUD W/NUT A P E OLD 1 PC 

JE APE457 HUB STUD W/NUT A P E NEW 1 PC

JE APE458 NUT  WHEEL A P E OLD -GREEN 1 PC 

JE APE458A NUT  WHEEL A P E OLD -ZINC 1 PC

JE APE459 NUT  WHEEL A P E NEW 25 PCS

JE APE460 HUB PIN BUSH A P E 1 PCS

JE APE701 MAKHI ACCELATOR A P E 100 PCS

JE APE702 MAKHI CLUTCH A P E BIG 25 PCS

JE APE703 MAKHI GEAR A P E SMALL 25 PCS

JE APE704 MAKHI REVERSE GEAR A P E SMALL 25 PCS



JE APE705 MAKHI REVERSE GEAR A P E BIG 25 PCS

JE APE706 MAGNET PULLY STUD A P E 8x70 20 PCS

JE APE751 NOZZEL STUD W/NUT A P E STD-6MM 10 PCS

JE APE752 NOZZEL STUD W/NUT A P E I O/S 10 PCS

JE APE801 OIL FILTER L-KEY BOLT A P E 8x25 10 PCS

JE APE851 P.T.O. STUD W/NUT A P E 8x54 10 PCS

JE APE852 P.P. SHAFT YOK BOLT A P E 17x45 10 PCS

JE APE853 PIVOT PIN A P E 1 PCS

JE APE951 REAR AXLE NUT A P E 10 PCS

JE APE952 REAR SHOCKER BOLT W/NUT A P E 10 PCS

JE APE1001 S.M.WERM NYLON A P E 1 PC 

JE APE1002 SILENCER STUD W/NUT A P E STD 25 PCS

JE APE1003 SILENCER STUD W/NUT A P E OVER 25 PCS

JE APE1004 STEERING BOLT W/NUT A P E 17x70 10 PCS

JE APE1051 THESI PIN A P E 5 PC 

JE APE1052 TAPET ADJUSTER A P E 6MM 25 PCS

JE APE1053 TAPET COVER L-KEY BOLT A P E 8x60 25 PCS

JE APE1054 TAPET NUT A P E 1 PCS

GC 1000

JE GC351 FRONT AXLE GC 1000 1 PC

JE GC352 FRONT AXLE NUT GC 1000 1 PC

JE GC353 FOND. BOLT W/NUT GC 1000 13x150 10 PCS

JE GC354 FORK CONE SET W/BALLS GC 1000 1 SET

JE GC401 GEAR SELECTOR ROD GC 1000 1 PC 

JE GC451 HUB STUD GC 1000 10 PCS

JE GC452 HUB NUT NYLOCK -GC1000 FR. AXLE NUT -APE-RE NO.19 25 PCS

JE GC453 HUB NUT SPL GC 1000 NO.19 25 PCS

JE GC501 IND. CLIP SET (2pc) GC 1000 1 SET

JE GC951 REAR AXLE NUT GC 1000 NO.19 10 PCS

JE GC1001 SILENCER NUT BOLT (FLANGE) GC 1000 13x35 25 PCS

BAJAJ 3W + CNG + COMPACT



JE RE101 AXILATOR PATTI REAR ENG. 10 PCS

JE RE146 BODY NUT BOLT REAR ENG. 17x50 25 PCS

JE RE147 BODY NUT BOLT REAR ENG. 17x65 10 PCS

JE RE148 BODY NUT BOLT REAR ENG. 17x75 10 PCS

JE RE149 BODY NUT BOLT REAR ENG. 17x100 10 PCS

JE RE150 BODY NUT BOLT REAR ENG. 17x125 10 PCS

JE RE151 BODY NUT BOLT REAR ENG. 13x40 25 PCS

JE RE151A BODY NUT BOLT SPL. RE -FLANGE TYPE 13x40 25 PCS

JE RE151B BODY NUT BOLT 2/W REAR ENG. 13x50 25 PCS

JE RE152 BODY NUT BOLT 2/W REAR ENG. 13x60 25 PCS

JE RE153 BODY NUT BOLT 2/W REAR ENG. 13x75 25 PCS

JE RE154 BODY NUT BOLT 2/W REAR ENG. 13x100 25 PCS

JE RE155 BODY NUT BOLT 2/W REAR ENG. 13x125 25 PCS

JE RE156 BRAKE PEDAL PIN REAR ENG. 100 PCS

JE RE156A KIT BRAKE PEDAL PIN REAR ENG. 1 KIT

JE RE157 BRAKE PEDAL BRACKET NEW REAR ENG. 1 PC 

JE RE158 BRAKE PEDAL PATTI REAR ENG. 1 PC

JE RE159 BRAKE PEDAL PIPE REAR ENG. 1 PC

JE RE160 BRAKE PEDAL WASHER REAR ENG. 14MM 50 PCS

JE RE161 BRAKE PEDAL SPLIT PIN REAR ENG. 0.5" 200 PCS

JE RE162 BRAKE SHOE CAM SET (2pc) REAR ENG. 1 SET

JE RE163 BRAKE ADJUSTER RE-CNG 1 PC

JE RE201 NUT BOLT CLUTCH LEVER REAR ENG. 10 PCS

JE RE202 NUT BOLT CLUTCH LEVER RE -CNG SUPER XL 10 PCS

JE RE203 CLUTCH KEY BAJAJ RE 100 PCS

JE RE204 CLUTCH NUT HEX REAR ENG. CHETAK 10 PCS

JE RE205 CLUTCH NUT KIT REAR ENG. CHETAK 1 KIT

JE RE206 CLUTCH NUT BEND WASHER REAR ENG. BAJAJ 100 PCS

JE RE207 CLUTCH NUT RE-CNG SMALL 10 PCS

JE RE208 CLUTCH NUT RE-CNG BIG 10 PCS

JE RE209 CLUTCH STEEL SHIM REAR ENG. STD 25 PCS

JE RE210 CLUTCH STEEL SHIM RE-GRINDED STD 10 PCS

JE RE211 CLUTCH STEEL SHIM REAR ENG. 1 OVER 10 PCS

JE RE212 CLUTCH STEEL SHIM REAR ENG. 2 OVER 10 PCS



JE RE213 CLUTCH STEEL WASHER LML TYPE REAR ENG. 25 PCS

JE RE214 COIL PLATE SCREW REAR ENG. SMALL 25 PCS

JE RE215 COIL PLATE SCREW REAR ENG. BIG 25 PCS

JE RE216 CROSS SPANNER PVC BIG REAR ENG. 10,11,13,14 1 PC 

JE RE217 CROSS SPANNER GOLDEN REAR ENG. 10,11,13,14 1 PC

JE RE218 CROSS SPANNER PVC SMALL REAR ENG. 11,13,14,17 1 PC

JE RE219 CROSS SPANNER PVC BIG REAR ENG. 11,13,14,17 1 PC

JE RE220 CHAMBER BOLT REAR ENG. 14x45 25 PCS

JE RE221 CYLINDER HEAD STUD BAJAJ-RE STD 10 PCS

JE RE222 CYLINDER HEAD STUD BAJAJ-RE 1 O/S 10 PCS

JE RE223 CYLINDER HEAD STUD BAJAJ-RE 2 O/S 20 PCS

JE RE251 DEMPER NUT REAR ENG NO. 14 100 PCS

JE RE301 NUT BOLT ENGINE REAR ENG. SMALL 10 PCS

JE RE302 NUT BOLT ENGINE BAJAJ -3W MEDIUM 10 PCS

JE RE303 NUT BOLT ENGINE REAR ENG. MEDIUM 10 PCS

JE RE304 NUT BOLT ENGINE REAR ENG. BIG 10 PCS

JE RE305 NUT BOLT ENGINE-GC 1000 RE-CNG 8x50 25 PCS

JE RE306 NO.13 BOLT ENGINE BEEDING -CT 100 RE -DISCOVER 8x80 10 PCS

JE RE307 NO.17 BOLT ENGINE BEEDING W/NY N SHOCKER NUT BOLT- T 10x45 10 PCS

JE RE307A NO.17 BOLT ENGINE BEEDING W/P NUTSHOCKER NUT BOLT- T 10x45 10 PCS

JE RE351 BOLT FAN REAR ENG. NO.10 25 PCS

JE RE352 FRONT LINK REAR ENG. 1 PC

JE RE353 FRONT LINK RE-CNG NEW 1 PC

JE RE354 NUT FRONT AXLE BAJAJ-RE 25 PCS

JE RE355 FRONT AXLE WASHER REAR ENG. 100 PCS

JE RE356 FRONT AXLE JOINT PATTI REAR ENG. 100 PCS

JE RE356A FRONT AXLE LOCK WASHER

JE RE357 FRONT DRUM STUD W/NUT RE-NEW 8x22 25 PCS

JE RE358 BOLT FLANGE LOCK REAR ENG. 13x18 100 PCS

JE RE359 WASHER FLANGE LOCK REAR ENG. 8 MM 1 PCS

JE RE360 FOUNDATION AXLE RE-CHETAK 1 PC

JE RE361 BOLT FOND. AXLE ASS. BAJAJ-RE 1 ASS.

JE RE362 PIPE FOND. AXLE BAJAJ-RE 25 PC



JE RE363 PIPE FOND. AXLE BAJAJ-RE HEAVY 1 PC

JE RE364 WASHER SET FOND. AXLE BAJAJ-RE 1 SET

JE RE365 NUT FOND. AXLE BAJAJ-RE NUT FRONT AXL 10 PCS

JE RE365N NUT FOND. AXLE BAJAJ - RE NYLON 25 PCS

JE RE366 BOLT FOND. AXLE RE-CNG 1 PC

JE RE367 BOLT FOND. AXLE ASS. RE-CNG 1 PC

JE RE368 PIPE FOND. AXLE W/W RE-CNG 1 PC

JE RE369 WASHER FOND. AXLE PLASTIC RE-CNG 1 SET

JE RE370 NUT BOLT FOUNDATION REAR ENG. 11x80 25 PCS

JE RE371 NUT BOLT FOUNDATION -SPL REAR ENG. 11x80 10 PCS

JE RE372 NUT BOLT FOND. -SPL 2 NUT REAR ENG. 11x80 10 PCS

JE RE373 NUT BOLT FOUNDATION -CNG BOLT TRIANGLE -APE 10x85 10 PCS

JE RE374 FORK BALLS KIT RE - CNG 1 KIT

JE RE375 FORK CONE SET W/BALLS REAR ENG. 1 SET

JE RE376 FORK CONE SET W/BALLS (5PC) RE-2010 1 SET

JE RE377 FORK CONE SET W/BALLS (6PC) RE-CNG NEW 1 SET

JE RE378 SHIM FIRST GEAR BAJAJ 3W -N/M STD 1 PCS

JE RE378A SHIM FIRST GEAR BAJAJ 3W -N/M I OVER 1 PCS

JE RE378B SHIM FIRST GEAR BAJAJ 3W -N/M 2 OVER 1 PCS

JE RE378C SHIM FIRST GEAR BAJAJ 3W -N/M 3 OVER 1 PCS

JE RE378D SHIM FIRST GEAR BAJAJ 3W -N/M 4 OVER 1 PCS

JE RE378E SHIM FIRST GEAR BAJAJ 3W -N/M 5 OVER 1 PCS

JE RE378F SHIM FIRST GEAR BAJAJ 3W -N/M 6 OVER 1 PCS

JE RE401 SHIM GEAR MUTHA REAR ENG. STD 100 PCS

JE RE402 GEAR ADJUSTER BAJAJ-RE NO. 8 25 PCS

JE RE403 GEAR-BRAKE ADJUSTER REAR ENG. NO. 11 50 PCS

JE RE404 GEAR MAKHI REAR ENG. NO. 7 100 PCS

JE RE405 GEAR MAKHI SPL BAJAJ-RE NO. 7 100 PCS

JE RE406 GEAR MAKHI-CNG-GC1000 BRAKE MAKHI-TVS NO. 8 100 PCS

JE RE407 BOLT GEAR BOX REAR ENG. SMALL 50 PCS

JE RE408 BOLT GEAR BOX REAR ENG. BIG 25 PCS

JE RE409 GLASS T CLUMP SET REAR ENG. 1 SET

JE RE410 SCREW GEAR CHANGER -3W SCREW COIL PLATE -HHNO.8 100 PCS

JE RE451 NUT BOLT HANDLE -OLD REAR ENG. 25 PCS



JE RE452 NUT BOLT HANDLE -NEW SILENCER BOLT-CNG 17x55 10 PCS

JE RE453 NUT HANDLE -OLD REAR ENG. 100 PCS

JE RE454 HEAD DOWEL KIT (4pc) RE-CNG 1 KIT

JE RE455 NUT HEAD RE-CNG 25 PCS

JE RE456 BOLT HEAD OLD REAR ENG. 50 PCS

JE RE457 BOLT HEAD NEW REAR ENG. NO.15 50 PCS

JE RE458 WASHER HEAD REAR ENG. NO.11 100 PCS

JE RE459 NUT HEAD NO.11 REAR ENG. 3 SOOT 100 PCS

JE RE460 NUT HEAD NO.11 REAR ENG. LONG 50 PCS

JE RE461 NUT HEAD NO.14 REAR ENG. FRONT ENG. 50 PCS

JE RE462 NUT HEAD NO.15 REAR ENG. M 9 50 PCS

JE RE463 NUT HEAD -BUMPER RE-FLI NO.14 10 PCS

JE RE464 SCREW HEAD L.SWITCH OLD REAR ENG. 200 PCS

JE RE465 NUT HUB NEW SPL REAR ENG. NO.17 50 PCS

JE RE466 NUT HUB OLD REAR ENG. NO.22 50 PCS

JE RE467 BOLT HUB FRONT REAR ENG. 10x24 25 PCS

JE RE468 BOLT HUB REAR REAR ENG. 10x30 25 PCS

JE RE470 NUT BOLT HUB REAR ENG. NO.17 10 PCS

JE RE471 NUT BOLT HUB REAR ENG. NO.22 10 PCS

JE RE472 PATTI HORN REAR ENG. 50 PCS

JE RE501    I -  PIN REAR ENG. BIG 10 PCS

JE RE502    I -  PIN REAR ENG. SMALL 25 PCS

JE RE503 I PIN SET STEEL BAJAJ-RE NO.17 1 SET

JE RE503B I PIN SET BRASS BAJAJ RE NO.17 1 SET

JE RE504 NUT I BOLT -RIGHT REAR ENG. NO.17 50 PCS

JE RE505 NUT I BOLT -LEFT REAR ENG. NO.17 50 PCS

JE RE506 SCREW -BACK LIGHT-INDIGATOR BAJAJ-RE 7x25 50 PCS

JE RE507 SCREW -BACK LIGHT-INDIGATOR BAJAJ-RE-TVS 7x32 50 PCS

JE RE508 SCREW -BACK LIGHT-INDIGATOR BAJAJ-RE-FE 7x40 50 PCS

JE RE509 SCREW -BACK LIGHT-INDIGATOR BAJAJ-RE 7x50 50 PCS

JE RE551 SCREW JUNCTION BOX BAJAJ 5X27 100 PCS

JE RE601 KICK LEVER REAR ENG. SMALL 1 PC

JE RE602 KICK LEVER ENGINE SIDE RE-CNG 1 PC

JE RE603 KICK LEVER DRIVER SIDE RE-CNG 1 PC



JE RE604 KICK WELDING PIN REAR ENG. TEMPER 1 PC

JE RE606 KOTHI AXLE CROME REAR ENG. 1 PC

JE RE607 KOTHI AXLE SHIM BAJAJ-3W RE 100 PCS

JE RE608 KOTHI TUNION ONLY REAR ENG. 1 PC

JE RE609 KOTHI TUNION ASS. REAR ENG. 1 ASS.

JE RE651 LONG AXLE WASHER BAJAJ 3W RE 100 PCS

JE RE652 LONG AXLE SHIM BAJAJ 3W RE 100 PCS

JE RE701 MAGNET KEY REAR ENG. 100 PCS

JE RE702 MAGNET KEY RE-CNG 100 PCS

JE RE703 MAGNET NUT BAJAJ-RE 25 PCS

JE RE704 MAGNET NUT RE-CNG 10 PCS

JE RE751 NOSE-HORN PATTI RE-CNG 25 PCS

JE RE801 BOLT OIL STD NEW BAJAJ-RE NO.14 50 PCS

JE RE802 BOLT OIL OVER NEW BAJAJ-RE NO.17 25 PCS

JE RE803 BOLT OIL STD REAR ENG. NO.14 25 PCS

JE RE804 BOLT OIL RE-CNG NO.17 50 PCS

JE RE805 BOLT OIL SPL RE-CNG 17x20 25 PCS

JE RE806 BOLT OIL PUMP REAR ENG. 10x25 50 PCS

JE RE807 OUTER NIPPLE REAR ENG. SMALL 100 PCS

JE RE808 OUTER NIPPLE - BIG REAR ENG. PARKING NIPPL 100 PCS

JE RE809 OIL NUT RE -CNG 1 PCS

JE RE851 PIVOT PIN GADDA BAJAJ-RE OLD 1 PCS

JE RE852 PIVOT PIN GADDA RE-CNG NEW 1 PCS

JE RE853 PIVOT PIN SHIM BAJAJ-3W RE 100 PCS

JE RE854 PIVOT PIN SHIM COPPER RE-CNG THIN 25 PCS

JE RE855 PIVOT PIN SHIM RE-CNG THICK 100 PCS

JE RE856 PIVOT PIN COPPER WASHER RE-CNG THIN 50 PCS

JE RE857 PIVOT PIN COPPER WASHER RE-CNG THICK 50 PCS

JE RE858 PIVOT PIN PATTI KIT REAR ENG. 1 KIT

JE RE859 PETROL TANKI STUD ORD REAR ENG. 100 PCS

JE RE860 PETROL TANKI STUD SPL REAR ENG. 50 PCS

JE RE861 PETROL TANKI LOCK KIT REAR ENG. 25 KIT

JE RE951 REAR AXLE NUT - CUT TYPE REAR ENG. NO.19 10 PCS



JE RE952 REAR AXLE NUT PLAIN-RE CLUTCH NUT -4S NO.19 10 PCS

JE RE953 RR AXLE NUT GRN-CUT TYPE BAJAJ-RE NO.19 10 PCS

JE RE954 RR AXLE NUT GRN-PLAIN CLUTCH NUT -4S NO.19 10 PCS

JE RE955 NUT REAR AXLE W/S LOCK BAJAJ-RE NO.19 1 KIT

JE RE955A RR AXLE NUT S LOCK BAJAJ-RE 100 PCS

JE RE956 REAR AXLE NUT -3W M.SHAFT NUT- CHETAK NO.22 10 PCS

JE RE957 REAR AXLE NUT KIT-FE M.S.NUT KIT-BAJAJ NO.22 1 KIT

JE RE958 RR.W. FLANGE - 2 CUT BAJAJ-RE SMALL 1 PC 

JE RE959 RR.W. FLANGE - 2 CUT BAJAJ-RE MEDIUM 1 PC 

JE RE960 RR.W. FLANGE - 2 CUT BAJAJ-RE BIG 1 PC 

JE RE958A RR.W. FLANGE - 4 CUT BAJAJ-RE SMALL 1 PC 

JE RE959A RR.W. FLANGE - 4 CUT BAJAJ-RE MEDIUM 1 PC 

JE RE960A RR.W. FLANGE - 4 CUT BAJAJ-RE BIG 1 PC 

JE RE958N RR.W. FLANGE - W/N 4 CUT BAJAJ-RE SMALL 1 PC 

JE RE959N RR.W. FLANGE - W/N 4 CUT BAJAJ-RE MEDIUM 1 PC 

JE RE960N RR.W. FLANGE - W/N 4 CUT BAJAJ-RE BIG 1 PC 

JE RE958N2 RR.W. FLANGE - W/N 2 CUT BAJAJ-RE SMALL 1 PC 

JE RE959N2 RR.W. FLANGE - W/N 2 CUT BAJAJ-RE MEDIUM 1 PC 

JE RE960N2 RR.W. FLANGE - W/N 2 CUT BAJAJ-RE BIG 1 PC 

JE RE961 REAR WHEEL CONE WASHER BAJAJ 3W 50 PCS

JE RE962 NUT BOLT RIM REAR ENG. SMALL 50 PCS

JE RE963 NUT BOLT RIM RE 3W -CHETAK BIG 50 PCS

JE RE964 NUT BOLT RIM OLD REAR ENG. NO.15 25 PCS

JE RE965 NUT RIM OLD REAR ENG. NO.15 100 PCS

JE RE966 ROCKER PIN SET (2pc) RE-CNG 1 SET

JE RE1001 BOLT FRONT SHOCKER BAJAJ-RE SMALL 50 PCS

JE RE1002 BOLT FRONT SHOCKER -SPL BAJAJ-RE SMALL 25 PCS

JE RE1003 NUT BOLT SHOCKER -SPL BAJAJ-RE BIG 10 PCS

JE RE1004 NUT BOLT SHOCKER -SPL HOLE RE-CNG BIG 10 PCS

JE RE1005 NUT BOLT SHOCKER REAR REAR ENG. 12x55 10 PCS

JE RE1006 PATTI SHOCKER ONLY REAR ENG. 100 PCS

JE RE1007 PATTI W/BOLT SHOCKER REAR ENG. 25 PCS

JE RE1008 PATTI SHOCKER BOLT ASS. REAR ENG. 10 ASS.

JE RE1009 SHOCKER U PATTI FR REAR ENG. 1 PC 



JE RE1010 SHOCKER BUSH STEEL BAJAJ-RE SMALL 50 PCS

JE RE1011 SHOCKER BUSH FRONT BAJAJ-RE BIG 25 PCS

JE RE1012 SILENCER MOUTH BAJAJ-RE 10 PC

JE RE1013 SILENCER WASHER BAJAJ-RE 100 PCS

JE RE1014 NUT BOLT SILENCER REAR ENG. 8x65 50 PCS

JE RE1015 NUT BOLT SILENCER BIG REAR ENG. 8x65 10 PCS

JE RE1016 STUD SILENCER RE-5PORT 8x36 50 PCS

JE RE1017 STUD W/NUT SILENCER-STD RE-A P E 8x40 25 PCS

JE RE1018 STUD W/NUT SILENCER-OVER RE-A P E 8x40 25 PCS

JE RE1019 STUD W/NUT SILENCER-STD RE-CNG 8x50 25 PCS

JE RE1020 SLIDER BLOCK SHIM ORD REAR ENG. THIN 200 PCS

JE RE1021 SLIDER BLOCK SHIM ORD REAR ENG. THICK 200 PCS

JE RE1022 SLIDER BLOCK SHIM ORD REAR ENG. E.THICK 500 PCS

JE RE1023 SLIDER BLOCK SHIM SPL REAR ENG. THIN 100 PCS

JE RE1023A SLIDER BLOCK SHIM SPL REAR ENG. THICK 100 PCS

JE RE1024 SLIDER BLOCK SHIM SPL REAR ENG. E.THICK 100 PCS

JE RE1025 SLIDER BLOCK SET ORD REAR ENG. 2 CUT 1 SET

JE RE1026 SLIDER BLOCK SET SPL REAR ENG. 4 CUT 1 SET

JE RE1027 SLIDER BLOCK NUT SET(4pc) REAR ENG. 4 CUT 1 SET

JE RE1028 SLIDER BLOCK PIN SPL REAR ENG. 10 PCS

JE RE1029 SPLIT PIN -BR.PEDAL BAJAJ-RE 0.50" 200 PCS

JE RE1030 SPLIT PIN -M/CYCLE BAJAJ-RE 1.00" 200 PCS

JE RE1031 SPLIT PIN -M.SHAFT BAJAJ-RE 1.50" 100 PCS

JE RE1032 SPLIT PIN BAJAJ-RE 2.00" 100 PCS

JE RE1033 SPLIT PIN BAJAJ-RE 3.00" 50 PCS

JE RE1034 S.M.WERM NYLON SPL B 3W YELLOW 1 PCS

JE RE1034A S.M.WERM NYLON B 3W RED 1 PCS

JE RE1035 S.M.WERM STEEL B 3W 1 PCS

JE RE1051 TIMING STUD STD RE-CNG 6x55 25 PCS

JE RE1052 TIMING STUD STD W/NUT RE-CNG 6x55 25 PCS

JE RE1053 TAPET COVER BOLT REAR ENG. 14x60 25 PCS

JE RE1151 VALUE GUIDE SET (2pc) RE-CNG 1 SET

JE RE1201 WHEEL CYLINDER BOLT BAJAJ-RE 10x12 100 PCS

JE RE204C NUT CLUTCH RE-COMPACT 10 PCS



JE RE703C NUT MAGNET RE-COMPACT 10 PCS

JE RE1015C NUT BOLT SILENCER RE-COMPACT 10 PCS


	Sheet1

